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General Intelligence and Reasoning Ability

Section type: Online
Section Negative Marks : 0.25
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0

Is Section Default?: null

Question Number : 1 Question Id : 630680252982 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

5boys A, B, C, D, E are sitting around a circular table in such a way that they are facing the centre, A and C are
neighbours, B and E are neighbors but E and D are not neighbours. B and C are also not neighbours. D is between A and
B.

Who is second to the left of B?

Options:

1. % B

Question Number : 1 Question Id : 630680252982 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % B

2. A

Question Number : 2 Question Id : 630680252983 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
4 students A, B, C, and D are sitting on a square table in such a way that they are facing towards the centre. A is to the
left of B but not to the left of C. D is to the right of C but not to the right of A.

Who is on the immediate right of A?

Options :

4 % B&D



Question Number : 2 Question Id : 630680252983 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.% D

4« BT D

Question Number : 3 Question Id : 630680252984 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Suresh was standing 15™ from the front and 25 from the back of a row. How many people were there in that queue?

Options:



Question Number : 3 Question Id : 630680252984 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
JOI TF Sieq # 36§ 153 3R 95 & 259 W W TS | 36 FR A faw A 87

Options :

1.« 39

2 % 40

5 % 38

4. % 41

Question Number : 4 Question Id : 630680252985 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Oth

There were a total of 63 people in the queue of a fair in which Rakesh was 30™ from the front. What will be the position

of Rakesh from the back of the queue?

Options :



Question Number : 4 Question Id : 630680252985 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

T Aol 1 FaR A gor 65 A & H T A F 304 W R o) FW & 9 F T F A
IS g

Options :
1 % 33
o % 34

3.v 36

4 % 31

Question Number : 5 Question Id : 630680252986 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statement:
L. Some persons are good.

II. Some persons are intelligent.

Conclusion:
L. Some intelligent people are good.

IL. Some good people are intelligent.

Options :

1. % Conclusions I and II follow.

> % Only conclusion IT is correct.

3 % Only conclusion I'is correct.

4. + Neither of the two conclusions is correct.

Question Number : 5 Question Id : 630680252986 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 6 Question Id : 630680252987 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statement:
L. All poets are daydreamers.

IL. All painters are day dreamers.

Conclusion:
[ All painfers are poets.

IL. Some daydreamers are not painters.
Options :

1 = Only conclusion II follows.

> « No conclusion emerges.

3. % Both the conclusions follow.



4 % Only conclusion I follows.

Question Number : 6 Question Id : 630680252987 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 7 Question Id : 630680252988 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Which will replace the question mark in the given series?
a, ab, abc, abed, abede, ?

Options :

1.« abcdef

2. % abcdfe

3. % Abcfed

4. % Abcdef

Question Number : 7 Question Id : 630680252988 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

ar 715 ol F Fla gesar=e e # gfawnfia s

a, ab, abc, abcd, abcde, ?
Options :

1.+ abcdef

> % abcdfe

5 % Abcfed

4 % Abcdef

Question Number : 8 Question Id : 630680252989 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What will be the next term in the given series?
8.27,64,125,7

Options :

1 % 236

> % 276

4 v 216

Question Number : 8 Question Id : 630680252989 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

T TS HWel H HeTem UG FAT FON?
8, 27, 64, 125, ?

Options :

| % 236

5 % 276

5 % 225

4. v 216



Question Number : 9 Question Id : 630680252990 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

How is Khushboo related to the husband of the daughter of the only son of Khushboo's mother-in-law?

Options:

1. % Mother

2. % Grand mother

Aunty

4.+ Mother-in-law

Question Number : 9 Question Id : 630680252990 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
T % W & FHella 9 #F 9 % 9 ¥ Gug FE 5N wara 72

Options :

1. % HIAl

5, % @rar

3_uﬂ1?ﬁ'



Question Number : 10 Question Id : 630680252991 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, if 987 is written as 24, 765 is written as 18, 436 is written as 15, then how will 465 be

written in that code language?

Options:

1. % 12

2 % 11

3 % 14

4.¢ 15

Question Number : 10 Question Id : 630680252991 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

vF fafead g #1 & T 987 ¥ 24 oy v ¢, 765 ¥ 18 oy 7 ¢, 456 ¥ 15 P M g,
a gt ¢ T # 465 ! ar fowr e

Options:
1.0% 12
> # 11

3. % 14

4.v 15



Question Number : 11 Question Id : 630680252992 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

If Patna is called as Kolkata, Kolkata as Surat, Surat as New Delhi, New Delhi as Ranchi. Ranchi as Mumbai, Mumbai
as Tata Nagar, Tata Nagar as Shimla, Shimla as Haridwar, Haridwar as Chennai and Chennai as Bokaro. Which of the

following city is the capital of India based on the given code?

Options :

1. % Haridwar
2 % New Delhi
3. « Ranchi

4. % Kolkata

Question Number : 11 Question Id : 630680252992 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 12 Question Id : 630680252993 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Avstarts his journey from a point E and walks 2 m towards North, After this A turns to his right and walks 3 m and again

furns to his right and walks 2 m. In which direction is A from his starting point?

Options :

1.+ East

2. % North

3. % West

4. % South

Question Number : 12 Question Id : 630680252993 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 13 Question Id : 630680252994 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Study the following arrangements carefully and answer the questions given below:
FG+@-TUV@ACGIMN3I4KL56@#S1#2
How many such numbers are there in the given series which are immediately followed by a particular symbol?

Options:

1. % 0

s
A
tJ

Question Number : 13 Question Id : 630680252994 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 14 Question Id : 630680252995 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following numbers is different from the others?

22,32, 10, 20, 33

Options :

1.+ 33

3.% 22

4. ® 32



Question Number : 14 Question Id : 630680252995 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

frafof@a # & =9 o ¥ 39 ¥ @A g7

22, 32, 10, 20, 33

Options:

1.¢ 33

5 % 20

3 % 22

4 % 32

Question Number : 15 Question Id : 630680252996 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

And language are closely related.
Options :
1. % Music
2 % Education

3. Script

4. % Games



Question Number : 15 Question Id : 630680252996 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
3R SIT9T T TET T B

Options:

1. % i

z_wﬁmﬂ

Question Number : 16 Question Id : 630680252997 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which will replace the question mark in the given series?
4.27,256,3124.7

Note: For this question, discrepancy is found in
qguestion/answer. So,this question is ignored for

all candidates.

Options :

A
Ln

5

P

1. 46,



5 46,656

3 46,556

4. 46.660

Question Number : 16 Question Id : 630680252997 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

fer arT So 7 T geaa=s Beg Fr gfaraiRg Fem?

4, 27, 256, 3124, ?

Note: For this question, discrepancy is found in
question/answer. So,this question is ignored for

all candidates.
Options :

, 46,555
, 46,656
5 46,556

4 46,660

Question Number : 17 Question Id : 630680252998 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What will be the next term in the given series?

AL B2 C3. 4.7

Note: For this question, discrepancy is found in
question/answer. So,this question is ignored for

all candidates.
Options :

1. D6

Question Number : 17 Question Id : 630680252998 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

T IS el H oM UG F4T g’
Al, B2, C3, D4, 7

Note: For this question, discrepancy is found in
guestion/answer. So,this question is ignored for

all candidates.



Options :

1. D6

2. D5

Question Number : 18 Question Id : 630680252999 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which will replace the question mark in the given series?

27,064, 125,216, ?

Options :

Question Number : 18 Question Id : 630680252999 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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27, 64, 125, 216, ?
Options :
1 % 340
5> % 341

5 % 342

4 v 343

Question Number : 19 Question Id : 630680253000 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Sunil got 500 marks in an examination. Rumana got 50 marks less than Sunil. Seema got 20 marks more than Rumana,

while Pooja got 20 marks less than Seema. Which two got exactly the same marks in that examination?
Options :

1 = Pooja & Seema

5>  Rumana & Pooja

3. % Seema and Rumana

4. % Rumana & Sunil

Question Number : 19 Question Id : 630680253000 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 20 Question Id : 630680253001 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
The height of Ram is 5 feet, Mohan is 2 feet taller than Ram, while Sohan is | feet taller. Sohan is 1 feet taller than

Ram. Who is the tallest among them?
Options:

1. % Sohan

2 % Ram

3.« Mohan

4. % Cannot be determined



Question Number : 20 Question Id : 630680253001 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

TR & 795 5 B¢ ¢, Aga T § 2 ¢ 91 ¢, T Wewt 1 O 7 ¢ W, T 1 5 0 ¢
30 ¥ T oA A {7

Options :

| % HEd

3. v FlEA

4« Terfa F@r e = g g

Is this Group for Examiner?: No
Examiner permission : Cant View
Show Progress Bar? : No

General Awareness

Section type : Online
Section Negative Marks : 0.25
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0

Is Section Default? : null



Question Number : 21 Question Id : 630680253002 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Who has been awarded the Shanti Swarup Bhatnagar Prize for the vear 2021 for his contribution in the field of Earth,

Atmosphere, Ocean and Planetary Sciences?

Options :

1« Dr. Binoy Kumar Saikia

2. % Dr. Kanishka Biswas

3. % Dr. Arun Kumar Shukla

4 % Dr. Debdeep Mukhopadhyay

Question Number : 21 Question Id : 630680253002 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 22 Question Id : 630680253003 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In which year was the last complete census of India conducted on the basis of information available till May 2023?
Options :
1. % 2022
2 % 2021

3 v 2011

4 % 2020

Question Number : 22 Question Id : 630680253003 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
H$ 2023 7 39T AN F FUN T 87 $ 3Hfod T Fowmorn 5w ¥ @ 7 2

Options :
1 % 2022
5 % 2021

3 v 2011

4 % 2020



Question Number : 23 Question Id : 630680253004 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Recently Tele Mental Health Assistance and Inter State Networking (Tele-Manas) initiative was launched by which of

the following?
Options :

1« Ministry of Health and Family Welfare

5> % Ministry of Education

3 % Ministry of Science and Technology

4 % Ministry of Sports

Question Number : 23 Question Id : 630680253004 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 24 Question Id : 630680253005 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Recently RBI has revised the URBAN CO-OPERATIVE BANKS (UCBS) regulatory framework based on the
recommendations of which panel?

Options:

1. % Shakti Kant Das

> % Uljit Patel

3.« N.S. Vishwanathan

4 % Mritunjay Kumar Narayan

Question Number : 24 Question Id : 630680253005 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1w eI arm
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Question Number : 25 Question Id : 630680253006 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

The 3 620 International Financial Architecture Working Group Meeting (IFA WG) concluded in June - 2023 in which

of the following state?

Options :

1.« Goa

> % Gujarat
3. % Maharashtra

4. % Karnataka

Question Number : 25 Question Id : 630680253006 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

A G20 FE Rl AT a1 TR 965 (FA WG) 7 - 2023 # fawots # & o
T # Foe 357

Options :
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Question Number : 26 Question Id : 630680253007 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which team has won the most IPL titles? Based on the information available till May 2023?
Options :

1 % Mumbai Indians Only

> % Chennai Super Kings Only

3 w Kolkata Knight Riders and Chennai Super Kings

4. Mumbai Indians and Chennai Super Kings

Question Number : 26 Question Id : 630680253007 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Ted ST e e e & A e §? 15 2023 7 39 e & R W2

Options :

1.



Hael deeis GR hew
. ISR AT TF5H 3R Teeis IR Fhed

4_¢§E%§%ﬁﬂaﬁ¢amégwﬁﬁﬁ

Question Number : 27 Question Id : 630680253008 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Quwwat ul Islam Mosque is located in which of the following cities of India?

Options :

1.« Delhi
2. % Patna

3. % Lucknow

4 % Jaunpur

Question Number : 27 Question Id : 630680253008 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Fead 3o FENH AEE AR FRaRT s a7 g 2

Options:

1.4 el




2. % Yl

3 % olEdAdr

4. % 3

Question Number : 28 Question Id : 630680253009 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The first Mughal emperor Babur was related to which of the following from his mother's side?
Options :

1 % Nasiruddin Humayun

2. % Sher Shah

3 Ghenghiz Khan

4. % Miran Shah

Question Number : 28 Question Id : 630680253009 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
TUH el AU T rAtenad A ¥ R Hoelr Aar # #R F Faiva or?

Options :



Question Number : 29 Question Id : 630680253010 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The Prarthana Samaj was established by Dr. Atma Ram Pandurang in which of the following place?

Options :

1. # Madras

> « Bombay

3. % Calcutta

4. % Delhi

Question Number : 29 Question Id : 630680253010 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
ST BA F AT 3. A TH G50 A fAra e & @ 5w ww w e

Options:




Question Number : 30 Question Id : 630680253011 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

At which place of the Harappan civilization, the remains of the "Great Bath", one of the major architectures of the

Harappan civilization, have been found?
Options:

1« Mohenjo-daro

2 % Harappa

3. % Lothal

4 % Rakhigarhi

Question Number : 30 Question Id : 630680253011 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 31 Question Id : 630680253012 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Classical Dance Sattriya is assoclated with which of the following state?
Options :

1. % Uttar Pradesh

2. % Kerala

3.« Assam

4. % Andhra Pradesh

Question Number : 31 Question Id : 630680253012 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

T Fo¥ FarkaT HeAfe@a # ¥ FF I ¥ Fefig 27

Options :

1. % ﬁ?gﬁ'ﬁr

Z_asm

3 « HHHA

4 % 3T HeEr

Question Number : 32 Question Id : 630680253013 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Lotia music is associated with which of the following state?

Options :

1+ Rajasthan

2 % Uttar Pradesh

3. % Bihar

4 % Manipur

Question Number : 32 Question Id : 630680253013 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
sifer g T=eRa # ¥ 9 o7 § =g &7

Options :

Question Number : 33 Question Id : 630680253014 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Reserve Bank of India established?
Options :

1. % 1933

2. % 1936

3 v 1935

4 % 1931

Question Number : 33 Question Id : 630680253014 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

AR Refer deh 1 FUTe fhE a9 g5 o7
Options :

1 = 1933

> = 1936

5 v 1935

4 % 1931

Question Number : 34 Question Id : 630680253015 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In which vear the scheme of Liberalisation, Privatisation and Globalisation was started in the Indian economy?
Options :

1.« 1991

2. % 1993

3 % 1994

4 % 1996

Question Number : 34 Question Id : 630680253015 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
S Feeraedn # g, fastetor i dedieor & die e av o & o o

Options :

1« 1991

5 % 1993

5 % 1994

4 % 1996

Question Number : 35 Question Id : 630680253016 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not correct regarding Inter Tropical Convergence Zone (ITCZ)?
Options :

In July, the ITCZ is located around 20°N-25°N latitudes (over the Gangetic plain), sometimes called the monsoon

1. % tough

> % The Inter Tropical Convergence Zone (ITCZ) is a low pressure zone located at the equator.

3. % The Inter Tropical Convergence Zone (ITCZ) is a low pressure zone.

4.+ The Inter Tropical Convergence Zone (ITCZ) is a high pressure zone.

Question Number : 35 Question Id : 630680253016 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

£ e Fedaid A (ITCZ) F a0 ¥ Frfaf@d # @ #i7 @ 7 781 &2
Options :

o5 &, TCZ et 20°N-25°N e (7T & here ) e 2 &, ot el Ay ot
(% TAE

5T Ted Feaatd A (ITCZ) FeT 1@ W Bud F &7 a9 &7 &7 ¢

ST Ihdl Fedad AT (ITCZ) TF FH gad F &7 gl

4 v S el Feaatd S (ITCZ) TF 3= g9 &1 g

Question Number : 36 Question Id : 630680253017 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which state has the highest literacy rate in India? (Based on 2011 census data)
Options :

1. % Tamil Nadu

2. % Andhra Pradesh

3.« Kerala

4. % Karnataka



Question Number : 36 Question Id : 630680253017 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
T ¥ 0 T & oeRar T wew #1017 (2011 $r TR & S W ATiE)

Options :

Question Number : 37 Question Id : 630680253018 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

India's first metro rail service was started in which of the following cities?

Options :

1. % Delhi

2 « Calcutta

3. % Mumbai

4. % Kochi



Question Number : 37 Question Id : 630680253018 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

amd'oﬁ‘rqacmﬁﬁiﬂﬁmﬁraﬁmﬁmﬁﬁaﬁ#ﬁmamﬁ?aﬁ?

Options:

Question Number : 38 Question Id : 630680253019 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which among the following nutrient is also known as Body building food?
Options :

1.« Protein

> % Carbohydrates

3. # Fat

4 % Carbohydrates and fats



Question Number : 38 Question Id : 630680253019 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
forfefeg & @ 5 9vs o0 &1 512 BT dea & &9 7 o 7@ 7 22

Options :

1. v S

, « FEIEEIC

3 % 940

4 « FEEIEIE TF TAT

Question Number : 39 Question Id : 630680253020 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

How many schedules are there in the Indian Constitution?
Options :

1. % 10

2. % 1l

3 " 12

4. % 09



Question Number : 39 Question Id : 630680253020 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Options :

1. % 10

2 % 11

3. v 12

4 % 09

Question Number : 40 Question Id : 630680253021 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Election commission of India, comes under which of the following article of Indian constitution?

Options :

1.« 324



Question Number : 40 Question Id : 630680253021 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A & I HE AR Teue ¥ el § § B weeog § deee A §

Options :
1.« 324
> = 319
3 % 318
4 % 317
Is this Group for Examiner?: No
Examiner permission : Cant View
Show Progress Bar?: No
Arithmetical and Numerical Ability

Section type : Online
Section Negative Marks : 0.25
Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 41 Question Id : 630680253022 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



What is the greatest five-digit number that is completely divisible by 8, 15, 16 and 21?

Options :

1 % 95780

5 « 99120

]

0685

4 % 987640

Question Number : 41 Question Id : 630680253022 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
ST H AW a9 WEd Fi W g S 8, 15, 16 3N 21 & 7 HWE ¥ Weew 7

Options :
1. % 95780
2 « 99120

5 % 79685

4 % 987640

Question Number : 42 Question Id : 630680253023 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is smallest prime number?

Options :

1. % 1

I-2

Question Number : 42 Question Id : 630680253023 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Fafof@a # ¥ #i9 759 o ¥a=w FEa g ?

Options :

7. % 1

Question Number : 43 Question Id : 630680253024 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is the largest 3 digit composite number?

Options :

1 & 999

> % 998

3 % 989

4 % 979

Question Number : 43 Question Id : 630680253024 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
fofa # ¥ 39 @ 3 3 #7 ga9 937 9= &7 87

Options :

|« 999

5 % 998

5 % 989

4 % 979

Question Number : 44 Question Id : 630680253025 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



“Ih

The average of 21 results is 15. The average of first 10 is 12 and the last 10 is 14. Find the 11™ result?

Options :

1. % 30

N
#
]
[E]

Question Number : 44 Question Id : 630680253025 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

21 UROTAT F 3ed 15 21 T2 10 & 3itea 12 3% 3| 10 &7 3iwq 14 #1137 ofoms 74
Hfe?

Options :
1 % 50
> % 52

5 % 54

4.« 95

Question Number : 45 Question Id : 630680253026 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

Find the average of first six multiples of 67

Options :

3. % 19

Question Number : 45 Question Id : 630680253026 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
6 & Ug TE IUTehI I dtga Fa ffEA?

Options :

1. % B

5 % 12

3 % 19

4. v 21

Question Number : 46 Question Id : 630680253027 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
If30% of A = 50% of B and B = x% of A then find the value of x ?

Options:
1.+ 60
2. % 80

3 % 160

4. % 90

Question Number : 46 Question Id : 630680253027 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
g A F30%=B & 50% g HT B=A #F 1% g a x & AF 79

Options:

1.+ 60

5 % 80

5 % 160

4 % 90

Question Number : 47 Question Id : 630680253028 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

A mobile seller sells a mobile worth 210,000 for 29,876, then what is the loss incurred on selling that mobile?

Options :

1 % 250

>« 124

Question Number : 47 Question Id : 630680253028 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

T AeRed 5 10,000 T &1 0 Aerda # 9876 T & 99 & § o 39 A # 49 | b
Wrgﬁrgs‘?

Options :
1 % 250
2 v 124

5 % 315

4 % 425

Question Number : 48 Question Id : 630680253029 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Rashmi offers 30% discount on a book. If she still gains 5% on marked price 2300, find the cost price of book?

Options :

1 % 150

5> « 200

4 % 300

Question Number : 48 Question Id : 630680253029 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

TR T o W 30% & 5T T W ¢ A 3 3 o 300 T F AT A R 5% F
A &, 7 TEF 1 A Aed A A

Options :

| % 150

5 v 200

5 % 250

4 % 300



Question Number : 49 Question Id : 630680253030 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Ayush buys a pen with 10% discount on its marked price, makes profit of 20% by selling for 2403, Find its marked
price?

Options :

1« 3375

3 % 360

4 % %360.50

Question Number : 49 Question Id : 630680253030 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Y 3o T W 10% BT & Y T 9 e §, 405 T F d9a 20% F T FA 8|

Options :
1.« 375 T
> % 370.50 T

3 % 360 TTI

4 % 360.50 T



Question Number : 50 Question Id : 630680253031 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

If 6x* — 4xy — 10y* = 0 then whatis x : y?
Options :

1% (L:=1) or(3:5)

7w (=1:1) or(5:3)

3% (=2:1) or(5:3)

4 % (=2:1) or(3:5)

Question Number : 50 Question Id : 630680253031 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
3T 6x2 —4xy—10y2 =0 a x:y FT g2

Options :
1 % (1:=1) or (3:5)
5w (=1:1) or (5:3)

3 % (=2:1) or (5:3)

4 % (=2:1) or (3:5)



Question Number : 51 Question Id : 630680253032 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In a school number of boys to girls ratio is 3 : 4 and when 200 girls left the school, ratio becomes 6 : 7, find total

mumber of boys?

Options:

1 % 400

=

3 v 120

4 % 900

Question Number : 51 Question Id : 630680253032 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

T T A T A A W T 3 ;4 ¢ 3R T 200 FER & we o foan, A e 6
78 9 ¢, T 6 39 T A S

Options :
1 = 400
5 % 300

3 v 1200

4 % 900



Question Number : 52 Question Id : 630680253033 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

If we have to make numbers 8, 12, 16 and 22 in proportion, what number must be added to each number?

Options :

4. % 10

Question Number : 52 Question Id : 630680253033 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

e 12, 168w 28 AT A @, 3 50F T F -0 5T A A
TET?

Options :




4 % 10

Question Number : 53 Question Id : 630680253034 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

What is simple interest of 7,200 at 5 é % per annum for 6 months?
Options :

1 % %176
> % %184
3 v %192

4 % ¥202.50

Question Number : 53 Question Id : 630680253034 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
6 ﬂ?lﬁé-?ﬁ»’l‘l’Si% gfg I $r a7 § 7,200 TUF T BIUROT T T 872

Options :

| 176 T

5> % 184 TIF

3 v 192 T93



4 % 20250 TIF

Question Number : 54 Question Id : 630680253035 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A sum when reckoned at 15% Simple interest amounts to 21,750 in 5 years. Find the sum?

Options :

1 % %750

5> % 850

3 v %1000

4 % %1100

Question Number : 54 Question Id : 630680253035 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
15% WTUNOT <017 &7 0T & X T T 5 st & 1,750 T3 & 1 81 I 7 Hfed?

Options :

| % 750 T9F

5 % 850 T

5 v 1,000 T



4 % 1,100 T

Question Number : 55 Question Id : 630680253036 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Two trains are travelling in opposite direction towards each other at 25 knv'hr and 30 knv'hr with 385 km apart. Find

after how much time will they meet?

Options :

1.« Thr

Question Number : 55 Question Id : 630680253036 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

3 & favliar fear & 25 e AR 30 Rl A A W 3B FA A P R A & T
o 3 et g a1g e

Options :

1_;/7'd?ﬂ'

> % 7.5 =T



3 % 8 war

4 % 8.5 =ar

Question Number : 56 Question Id : 630680253037 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Let P and Q starts simultaneously from a certain point in East and West direction on a cycle. Speed of P is 90 kmv/hr and

that of Q is 75 kmyhr. What is distance between P and Q after 15 minutes?

Options :

1. % 41 km
2« 41.25 km
3 % 41.50 km

4. % 4225 km

Question Number : 56 Question Id : 630680253037 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

A1 aiftee P 3 Q w fftew fog @ o wafem | @ v ofew fr & & a0y o o A
§1 P @1 afd 90 Rl § iR Q o af 75 felveer €1 15 B a1 P 3 Q & &9 & g
foett 87

Options :

1. % 41 TRaT



5 v 41.25 fFaT
5 % 4150 fFar

4 % 42.25 T

Question Number : 57 Question Id : 630680253038 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Shivam can do a work in 20 days. If Shubham is 60% more efficient than Shivam. The number of days in which

Shubham will finish the work will be?

Note: For this question, discrepancy is found in
question/answer. So,this question is ignored for

all candidates.

Options :

5
4

Wl

w
W |

onl i



Question Number : 57 Question Id : 630680253038 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

frem ot 7w &1 20 o & o v 1 A o Rm @ 60 3% e €1 o v R A
A T F?

Note: For this question, discrepancy is found in
question/answer. So,this question is ignored for

all candidates.

Options:

5
4

wlw

w
W |

onl i

Question Number : 58 Question Id : 630680253039 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



2500
2000
1500 1 W Cost
W Column2
1000
W Columnl
500 I
n -
Rice Wheat Vegetables

What is total cost of rice?

Options :

1 % 1200

5>« 1500

3 % 1400

4 % 1300

Question Number : 58 Question Id : 630680253039 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



2500

2000

1500 -
W Cost
W Calumn2
1000 -
W Calumnl
500 I
o - T T T |
g Eird o Teqar

o

=TT T ol AT Tehetel! g2

Options :

1 = 1200

5> v 1500

5 % 1400

4 % 1300

Question Number : 59 Question Id : 630680253040 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What is ratio of areas of circumcircle and in circle of a square?

Options:

1. % 1:2

2. % 1:3



Question Number : 59 Question Id : 630680253040 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
TF T F TRged AT FA:Ged F SRS HT IS 4T g7

Options :
1.0 112
> % 1:3
3 % 213
4.v 211

Question Number : 60 Question Id : 630680253041 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A wheel makes 2000 rounds in covering a distance of 44 km. Find the radius of the wheel?

Options :

1. % 3m



w
#
)
)
—
=

4. % 44m

Question Number : 60 Question Id : 630680253041 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
T SR 44 el A gt 57w & 2000 TR N ¢ R & e T AR

Options :

1_@53[‘!‘1

2. % 3.5 m

3. ® 2.2 m

4. ® 44 m

Is this Group for Examiner? : No
Examiner permission : Cant View
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Is Section Default? : null

Question Number : 61 Question Id : 630680253042 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the missing word to complete the sentences below:

Books and television are different. of them should replace the other.

Options :

1. % None

2« Neither

3. % Either

4. % Both

Question Number : 61 Question Id : 630680253042 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the missing word to complete the sentences below:

Books and television are different. of them should replace the other.

Options :

1. % None

2.« Neither



3. % Either

4. % Both

Question Number : 62 Question Id : 630680253043 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the missing word to complete the sentences below:

They've arranged to have another meeting in two weeks, and the problem is getting worse and worse!

Options :

1. % hence

2. # therefore

3. # because

4. + meanwhile

Question Number : 62 Question Id : 630680253043 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the missing word to complete the sentences below:

They've arranged to have another meeting in two weeks, and the problem is getting worse and worse!

Options :

1. % hence



2. % therefore

3. % because

4. « meanwhile

Question Number : 63 Question Id : 630680253044 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Choose the most logical order of the sentences from among the four given choices to construct a

coherent paragraph.

A. Where his illustrious rivals Roger Federer and Rafael Nadal were - and still are - wildly
popular, universally, Djokovic was admired but not quite loved.
B. Sporting heroes, like celebrated authors, have a devoted following.

C. Novak Djokovic has often suffered this fate.

D. With time, as tastes become more defined, the fandom narrows, leaving little scope for

accommodating others.

Options :

1 % ACBD

> % DBAC

3« BDCA

4 % DACB



Question Number : 63 Question Id : 630680253044 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Choose the most logical order of the sentences from among the four given choices to construct a

coherent paragraph.

A. Where his illustrious rivals Roger Federer and Rafael Nadal were - and still are - wildly
popular, universally, Djokovic was admired but not quite loved.
B. Sporting heroes, like celebrated authors, have a devoted following.

C. Novak Djokovic has often suffered this fate.

D. With time, as tastes become more defined, the fandom narrows, leaving little scope for

accommodating others.

Options :

1 % ACBD

> % DBAC

3 v BDCA

4 % DACB

Question Number : 64 Question Id : 630680253045 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

Choose the most logical order of the sentences from among the four given choices to construct a

coherent paragraph.

A. They were cheered by the crowds who gathered outside the palace and in The Mall, the
avenue leading up to it.

B. The air display of some 70 military aircraft, following a 41-gun salute from nearby Green Park



in central London, came after bad weather cut short a planned fly-past at Charles's
coronation on May 6.
C. Britain's royal family rounded off King Charles III's inaugural birthday parade Saturday with a

balcony appearance at Buckingham Palace to watch a spectacular fly-past.

D. Itended with the Red Arrows, the Royal Air Force's aerobatic display team, trailing red,

white and blue vapours.

Options :

1. # DABC

2.« CABD

3 % ADCB

4. % CDAB

Question Number : 64 Question Id : 630680253045 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Choose the most logical order of the sentences from among the four given choices to construct a

coherent paragraph.

A. They were cheered by the crowds who gathered outside the palace and in The Mall, the
avenue leading up to it.

B. The air display of some 70 military aircraft, following a 41-gun salute from nearby Green Park
in central London, came after bad weather cut short a planned fly-past at Charles's
coronation on May 6.

C. Britain's royal family rounded off King Charles III's inaugural birthday parade Saturday with a

balcony appearance at Buckingham Palace to watch a spectacular fly-past.

D. It ended with the Red Arrows, the Royal Air Force's aerobatic display team, trailing red,



white and blue vapours.

Options:

1. # DABC

> « CABD

3 % ADCB

4. % CDAB

Question Number : 65 Question Id : 630680253046 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most suitable word to complete the below sentences:

Even the in him - he can speak Serbian, English, French, Italian, German and Spanish - did not fully endear him

to fans outside Serbia.

Options :

1 % monolingual

5> % bilingual

3.« bolyglot

4 w trilingual

Question Number : 65 Question Id : 630680253046 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most suitable word to complete the below sentences:

Even the in him - he can speak Serbian, English, French, Italian, German and Spanish - did not fully endear him
o fans outside Serbia.

Options:

1 % monolingual

5> % bilingual

3.« Polyglot

4 % trilingual

Question Number : 66 Question Id : 630680253047 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most suitable word to complete the below sentences:

Individual rights and choices are being by hooligans who claim to protect community interests, a trend that is a

serious threat to the rule of law and social harmony.

Options :

1. % assisted

5 « trampled upon

3 % helped

4. % aided



Question Number : 66 Question Id : 630680253047 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most suitable word to complete the below sentences:

Individual rights and choices are being by hooligans who claim to protect community interests, a trend that is a

serious threat to the rule of law and social harmony.

Options:

1. % assisted

5 « trampled upon

3 % helped

4, % aided

Question Number : 67 Question Id : 630680253048 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most suitable word to complete the below sentences:

Initial estimates for India’s external trade performance in May are a of even tougher times ahead.
Options:
1 « harbinger

2. % withholder

3. % contraindication



4 % Incognizance

Question Number : 67 Question Id : 630680253048 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most suitable word to complete the below sentences:
Initial estimates for India’s external trade performance in May are a of even tougher times ahead.
Options :

1 « harbinger

2 % withholder

3. % confraindication

4 % Incognizance

Question Number : 68 Question Id : 630680253049 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

Choose the most logical order of the words from among the four given choices to construct a sentence:

A) in his coat pocket.
B) he forget

C) Lest

D) she put the key

Options:

1 % DACB



2. % BCDA

3.« CBDA

4 % ADCB

Question Number : 68 Question Id : 630680253049 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most logical order of the words from among the four given choices to construct a sentence:

A) in his coat pocket.
B) he forget

C) Lest

D) she put the key

Options :

1. % DACB

2. % BCDA

3.« CBDA

4 % ADCB

Question Number : 69 Question Id : 630680253050 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Choose the most logical order of the words from among the four given choices to construct a sentence:

A) Nevertheless.
B) She never liked reading
C) but the book was interesting

D) about economics,

Options :

1 « BDCA

5> % ABDC

3. # BCDA

4 % DBAC

Question Number : 69 Question Id : 630680253050 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most logical order of the words from among the four given choices to construct a sentence:

A) Nevertheless.
B) She never liked reading
C) but the book was interesting

D) about economics,
Options :
1.+ BDCA

> % ABDC

3. ® BCDA



4 % DBAC

Question Number : 70 Question Id : 630680253051 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Millennials are entering the highest point in their careers. Choose an alternative for the italicized phrase:

Options :

1.+ Zenith

2 % Horizon

3. % Nadir

4. % Paradise

Question Number : 70 Question Id : 630680253051 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Millennials are entering the highest point in their careers. Choose an alternative for the italicized phrase:

Options :

1.« Zenith

2. % Horizon

3 % Nadir



4. % Paradise

Question Number : 71 Question Id : 630680253052 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate one-word substitution for “A person who shows people their seats™:

Options :

1. % Cameraman

> w guard

3.« usher

4. % fisher

Question Number : 71 Question Id : 630680253052 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate one-word substitution for “A person who shows people their seats™
Options :

1. % Ccameraman

> % guard

3.« usher



4, % fisher

Question Number : 72 Question Id : 630680253053 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct substitute for the bracketed segment.

(Jim had quickly) realized that he had lost the keys.

Options :

1« Jim quickly

> % Jim has quickly

3 ® Jim have quickly

4. % No correction required

Question Number : 72 Question Id : 630680253053 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct substitute for the bracketed segment.

(Jim had quickly) realized that he had lost the keys.
Options :

1« Jim quickly

5> % Jim has quickly



3 % Jim have quickly

4 % No correction required

Question Number : 73 Question Id : 630680253054 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Identify the correct substitute for the bracketed segment.

(No sooner did we arrived) at the club than we got into an argument about parking.

Options:

1. #® No sooner had we arrive

2 % No sooner than we arrived

3.« No sooner did we arrive

4 % No correction required

Question Number : 73 Question Id : 630680253054 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

Identify the correct substitute for the bracketed segment.

(No sooner did we arrived) at the club than we got into an argument about parking.

Options :

1. % No sooner had we arrive



% No sooner than we arrived

3.« No sooner did we arrive

4 % No correction required

Question Number : 74 Question Id : 630680253055 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Choose the word that completes the below statements:

She visit her parents tomorrow.

Options :

1« Isgoingto

2. % shall be

3. % will be

4, % wants

Question Number : 74 Question Id : 630680253055 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Choose the word that completes the below statements:

She visit her parents tomorrow.



Options :

1« Isgoingto

2. % shall be

3. % will be

4, % wants

Question Number : 75 Question Id : 630680253056 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that completes the below statements:

Does vour father in a library?
Options :

1 % working

2 % works

3.« work

4. % worked

Question Number : 75 Question Id : 630680253056 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Choose the word that completes the below statements:

Does vour father in a library?

Options :

1 = working

2. % works

3.« work

4, % worked

Is Section Default?: null

Question Id : 630680253057 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (76 to 80)

Refer the above passage and answer the Questions.

Few industries tout their sustainability credentials more forcefully than the fashion industry. Products ranging from
swimsuits to wedding dresses are marketed as carbon positive, organic, or vegan while yoga mats made from
mushrooms and sneakers from sugar cane dot retail shelves. New business models including recycling, resale, rental,

reuse, and repair are sold as environmental life savers.

The sad truth however is that all this experimentation and supposed “Innovation” in the fashion industry over the past
25 vears have failed to lessen its planetary impact - a loud wake-up call for those who hope that voluntary efforts can
successfully address climate change and other major challenges facing society.

Take the production of shirts and shoes, which has more than doubled in the past quarter century - three quarters end up
burned or buried in landfills. This feels like a personal failure of sorts. The reasons for the industry’s sustainability
letdown are complicated. Pressure for unrelenting growth summed with consumer demand for cheap, fast fashion has
been a major contributor. So too are the related facts that real prices for footwear and apparel have halved since 1990

with most new items made from non-biodegradable petroleum-based synthetics.

Sub questions



Question Number : 76 Question Id : 630680253058 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Identify the central theme of the passage:
Options:

1 % Sales in fashion industry

5  Sustainability in fashion industry

3 % Production in fashion industry

4 % Design in fashion industry

Question Number : 77 Question Id : 630680253059 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Identify the suitable title for the passage:

Options :

1. % Fashion Pollution

> % Growth of fashion industry

3 % History of fashion

4. The myth of sustainable fashion



Question Number : 78 Question Id : 630680253060 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of innovation?

Options :

1.« New idea or method

5> % Improvisation

3 % Transpose

4 % Implementation

Question Number : 79 Question Id : 630680253061 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Identify the inferences drawn from the passage:
Options :

1 = Alothas already been done for sustainability in past 25 years and is enough for the environment,

Voluntary efforts alone cannot address climate change and other major challenges facing society and the government

5. leedstosstep in to force companies to pay for their negative impact on the planet.

Fashion industry is doing its best and is providing a lot of fashion at cheap price, non-biodegradable petroleum-based

3. % synthetics have helped us achieve this

4. % The demand for apparels has grown manifold in the last 25 years and will continue to grow in future.



Question Number : 80 Question Id : 630680253062 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

[dentify the most suitable synonym for “demand” from below options in the same context as per used in the passage:
Options:

1 % Request

> % Inquire

3 « Requirement

4. % Command

Question Id : 630680253057 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (76 to 80)



Refer the above passage and answer the Questions.

Few industries tout their sustainability credentials more forcefully than the fashion industry. Products ranging from

swimsuits to wedding dresses are marketed as carbon positive, organic, or vegan while yoga mats made from
mushrooms and sneakers from sugar cane dot retail shelves. New business models including recycling, resale, rental,

reuse, and repair are sold as environmental Life savers.

The sad truth however is that all this experimentation and supposed “innovation” in the fashion industry over the past
25 years have failed to lessen its planetary impact - a loud wake-up call for those who hope that voluntary efforts can

successfully address climate change and other major challenges facing society.

Take the production of shirts and shoes, which has more than doubled in the past quarter century - three quarters end up
burned or buried in landfills. This feels like a personal failure of sorts. The reasons for the industry’s sustainability
letdown are complicated. Pressure for unrelenting growth summed with consumer demand for cheap, fast fashion has
been a major contributor. So oo are the related facts that real prices for footwear and apparel have halved since 1990

with most new ifems made from non-biodegradable petroleum-based synthetics.

Sub questions

Question Number : 76 Question Id : 630680253058 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Identify the central theme of the passage:

Options :
1 = Sales in fashion industry
5 « Sustainability in fashion industry

3 % Production in fashion industry

4 % Design in fashion industry

Question Number : 77 Question Id : 630680253059 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

Identify the suitable title for the passage:

Options :

1. % Fashion Pollution

> % Growth of fashion industry

3 % History of fashion

4. The myth of sustainable fashion

Question Number : 78 Question Id : 630680253060 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of innovation?
Options:

1.« New idea or method

5> % Improvisation

3 % Transpose

4 % Implementation

Question Number : 79 Question Id : 630680253061 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Identify the inferences drawn from the passage:
Options :

1 % Alothas already been done for sustainability in past 25 years and is enough for the environment.

Voluntary efforts alone cannot address climate change and other major challenges facing society and the government

5« Deeds tostep into force companies to pay for their negative impact on the planet.

Fashion industry is doing its best and is providing a lot of fashion at cheap price, non-biodegradable petroleum-based

3. % synthetics have helped us achieve this.

4. % Thedemand for apparels has grown manifold in the last 25 years and will continue to grow in future.

Question Number : 80 Question Id : 630680253062 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Identify the most suitable synonym for “demand” from below options in the same context as per used in the passage:
Options :

1 % Request

> % Inquire

3 « Requirement

4. % Command

Is this Group for Examiner?: No
Examiner permission : Cant View

Show Progress Bar?: No
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Question Number : 81 Question Id : 630680254486 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

3T U9 J57 ae01q & He ® Aeloi@d & § Fi & FU9 T 7a7 7

Options :

fordt s & 57 Rgredl @ wRst & ERT T99 9 g, 3 HeITA F A oA A

|« T FE A 8|

, x JIFE F HHGE FCTAA F AH T7 fa=ara gl

AT AT 1 WEH Ageedqul 39 g

AFY AT F A U SF gl

Question Number : 81 Question Id : 630680254486 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



I U3 37 GO & ey § g 7 ¥ T 9 FI9 57 T8 82

Options :

for amwr & 57 el @ wRmmst & SR T o, 3 A F A oee F

|« TS A g

5> % TG F FAGE JAUTAS & ATH I &F=7F gl

JFY AN FH FIH Ageca ol 391 g

IFT AT B EEAH O SFE Bl

Question Number : 82 Question Id : 630680254487 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Hi=ata ¥ Far HF9T 872

Options :

1@,mﬁﬁﬁﬁl§%,qﬂﬁ,gw,mm3ﬁﬁmﬂ

zﬁm%@#ﬁmm,w,mmﬁmﬁ

5 « TEE UG F A [o7T H THEIAT &

.« TEE ¥R F Fad T vF gua e F e @

Question Number : 82 Question Id : 630680254487 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Hieata & Fa7 HEHATT §7

Options :

Jmﬁﬁﬁﬁ,dﬂﬁ,jﬂﬁ,wﬁﬁﬁﬁmﬂ

1

Zum%@ﬂ;%,qﬂﬁ,gw,wmmﬁﬁmﬁ

5 « TEZ U F Had foT # THEIA @l

4, » TEE UL F Fad oo UF TS ARG H SHAAAT &

Question Number : 83 Question Id : 630680254488 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
o @a 7 o FiF 9 #r AdF s A JS 272

Options:
1 % FFT TIAT
2. % dlFd

30 TR

L. B



Question Number : 83 Question Id : 630680254488 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
f=fofEa § o FiF 9w #r g gFE 79 Ja 272

Options :

1. % dlard H*{ﬂrll

2 % dleg

3 v eq

4 % T

Question Number : 84 Question Id : 630680254489 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
U F I T T T4 TR T H TIF g Aed ST S ¢ 38 T T ¢

Options :

1_&%?1?

) 5 U

5 % TUF AT

4. v 99



Question Number : 84 Question Id : 630680254489 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

W F I T (AR AT TR T F TS @ AT S S ¢ 3W T Fed 87

Options :

1 % TEER

) % U

3 % TUE A

4, &

Question Number : 85 Question Id : 630680254490 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
frfof@a # ¥ =ia 9g &1 fFdvare 7@ g2

Options :

9 FIS o= 9T H TgFA & A g 99 39 S FEd 2

1. %

Ueg 9 off TFT A TYFA GO 3HA FI A FI$ TehT FLT ST FAC

2. %

3 ST TAUT YaNT #r TR F e F FIA TH & FF & Tohod &l

4 % STH TAT FART H TC F g F 310 F9 & T ¢l



Question Number : 85 Question Id : 630680254490 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
frfof@a & & #iq 9g & fFwa 78 82

Options:

ST FIT AT TFT H TgFd @ AT § o9 38 U FEd ol

1. #

L T TS #ff TFT # TYFT EFT 3H FI3 A FI3 ToIT 3T ST AT

3 v T TUT FAT & T & A5 & Had Th & 9 @ Tohd gl

4 % YT TAT TAIT T ToC § 2Meg & Heldh ®F & T gl

Question Number : 86 Question Id : 630680254491 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
fefaf@d # & ®id 7 2reg H1 4of F @1 37 87

Options :

| v TR

4 % FHT



Question Number : 86 Question Id : 630680254491 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
T=oa & ¥ #ia g7 g & S F 76 39 87

Options :

| v TR

4 % FHT

Question Number : 87 Question Id : 630680254492 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
TE FgA & Sedr § TFT H Fid Far 87

Options :

|« TEA T A ar



Question Number : 87 Question Id : 630680254492 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
HIg HAgT & YIear § 95T H Fied Far 27

Options :

| » BEa TE ARA gt

5. % FIEA

3. v TiEd

4_asfe|EF|T

Question Number : 88 Question Id : 630680254493 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

‘HEWTF # TA b el T H Tl g FiT AT 70T &7

Options :

| o P TS A TE RN

> % LIS o I

3 % LS o aarar &k



4% HLIOF T Tl

Question Number : 88 Question Id : 630680254493 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

“IFEATIF F FAA K Fol TRt H GEI RN Fi NS 39T 82

Options:

o T H T A

1.

> % LIS o 41T

3 % HEIOF o Famr &k

4% HLIOF T Tl

Question Number : 89 Question Id : 630680254494 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
R T T AT TR A T R 5 VT E G T IT ¢ T FW g 2

Options :

1w 3 IR ereg

5> w TifEF e



3 o T RSN 2T

4 % 00T Us

Question Number : 89 Question Id : 630680254494 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
I e T TN FART OSER F o W 59 39 Q98 &9 A & Oy I § F 0 e 7

Options :

1 % T RN g

5> % I =g
, o T TReF ereg

o x TR

Question Number : 90 Question Id : 630680254495 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
fFreafof@a & ¥ #iF T ueg nioiene oeg & Ao & &7 37ar 87

Options :

1. % Q#H

> % YU



Question Number : 90 Question Id : 630680254495 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
=of@a # ¥ FiF T o iR g & Aot J A7 3mar 27

Options :

1. % Q?H

Question Number : 91 Question Id : 630680254496 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HETAT e ATl Hol T H g & ¥ 3c9eA §'EHT %—9
Options :

qu



3. % qEe

s R

Question Number : 91 Question Id : 630680254496 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TR UG I Hel &7 H hy #91 § 3794 g3 g7
Options :

1_¢W

, w fEwr
5 x TEPd

s

Question Number : 92 Question Id : 630680254497 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
a1 s o M G TR 2 s

Options :




gz # vfagfas Rew

i L 'l
5> % HiSA HH H THeId]

ﬁ?@ff&gﬁaﬁmaﬁaﬁaﬂtmﬁaﬁaﬁwm

ECIDED HogaT= |lel

Question Number : 92 Question Id : 630680254497 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

"Bl H G A HEE H T H{Y Far 82

Options:

gg # vfagfas e

1. %

5> % TS FI H THeld]

B.Jﬁm%ﬁmmﬁmmﬁmﬁm

4w EIPED HogaTa |l

Question Number : 93 Question Id : 630680254498 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 93 Question Id : 630680254498 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 94 Question Id : 630680254499 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 94 Question Id : 630680254499 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 95 Question Id : 630680254500 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 95 Question Id : 630680254500 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 97 Question Id : 630680254503 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 99 Question Id : 630680254505 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 97 Question Id : 630680254503 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 101 Question Id : 630680254510 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The assumptions behind production possibility curve include:
Options:

1 % Variable supply of factors of production

5> % Continuous up gradation of technology

3« Full employment of economy

4 w Allocation of factor inputs to a single use

Question Number : 101 Question Id : 630680254510 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 102 Question Id : 630680254520 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In which of the following situation is the elasticity less than unity?
Options :

1 % Ifthe outlay increases with decrease in price

5> % Ifthe outlay decreases with increase in price

3. Ifthe outlay increases with increase in price

4 w Ifthe outlay remains same with decrease in price

Question Number : 102 Question Id : 630680254520 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 103 Question Id : 630680254536 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What may cause a leftward shift of the supply curve?
Options:

1 % Adecrease in the cost of production for the firm

> % Abincrease in the number of sellers in the industry

3 % Abimprovement in technology

4« The imposition of an excise duty on a commodity



Question Number : 103 Question Id : 630680254536 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 104 Question Id : 630680254541 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A perfectly competitive firm would shut down if:
Options :

1. % AVC<AR

5.« AVC>AR

3 % AVC=MC

4 % AVC<MC



Question Number : 104 Question Id : 630680254541 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| % AVC<AR

, v AVC>AR

5 % AVC=MC

4 % AVC<MC

Question Number : 105 Question Id : 630680254551 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A monopsony is a market with

Options :

1« one buyer

2. % one seller

3 % few buyers

4. % few sellers



Question Number : 105 Question Id : 630680254551 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 106 Question Id : 630680254563 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The most popular pricing strategy at the introduction stage of a products life-cycle is:
Options :

1 = Loss leader pricing

5 « Price skimming

3 % Perceived value pricing

4 % value pricing



Question Number : 106 Question Id : 630680254563 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Options :

|« oF ST TS (Loss leader pricing)
, » 950 TERHT (Price skimming)

3 % aes ﬁ?{ grsf@eT (Perceived value pricing)

n g WiEfEeT (Value pricing)

Question Number : 107 Question Id : 630680254565 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A good which is characterized by both rivalry and excludability is called as:
Options :

1 % Public good

5 « Private good

3. % Merit good

4 % Normal good



Question Number : 107 Question Id : 630680254565 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 108 Question Id : 630680254602 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect?

Options :

1 % MPC+MPS = |

MPC is the relationship between change in consumption and change in income

The most important factor affecting consumption in household is disposable income

4. Consumption is zero when income is zero



Question Number : 108 Question Id : 630680254602 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 109 Question Id : 630680254607 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The short run aggregate supply curve will shift to the right when:
Options:

1 % Energy prices increase

2 Prices of input decrease

3 % Investment spending decreases

4w Productivity rate decreases



Question Number : 109 Question Id : 630680254607 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 110 Question Id : 630680254610 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

If an economy wants fo increase aggregate income by Z 500 crore, what increase in investment will be required if the
MPCis04:

Options:
1. % 200 crores
2.« 300 crores

3. % 1250 crore

4. % 833.3 crore



Question Number : 110 Question Id : 630680254610 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 111 Question Id : 630680254621 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The discount rate of the RBI acts upon:
Options :
1 % Stabilizes prices in the economy

5 « The interest rate that the RBI charges commercial banks and other depository institutions

3 % Stabilizes business cycle of the economy



4 w Stabilizes the exchange rate in the country

Question Number : 111 Question Id : 630680254621 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 112 Question Id : 630680254638 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A large part of fiscal deficit in India is financed by:
Options :
1. % External Debt

2 Market Borrowings

3 % Securities against Small Savings



4. % State Provident Funds

Question Number : 112 Question Id : 630680254638 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 113 Question Id : 630680254646 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which plan recognized the importance of human capital in economic growth?

Options :

1.+ Seventh

2 % Tenth

3 % Eighth



4 % Fifth

Question Number : 113 Question Id : 630680254646 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 114 Question Id : 630680254649 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In case of mortgage financing, the concept of Base Rate was introduced by RBI in:
Options :
1. % 2002

5> « 2010

3 % 2001



4 % 2009

Question Number : 114 Question Id : 630680254649 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| % 2002

5 v 2010

3 % 2001

4 % 2009

Question Number : 115 Question Id : 630680254653 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The public policies which are meant for specific segments of the society are known as:

Options :
1. % Redistributive

2.« Distributive

3 » Regulatory



4 w Capitalization

Question Number : 115 Question Id : 630680254653 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 116 Question Id : 630680254663 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Karve committee of 1955 was associated with:

Options :

1.« Small scale industries

> w Large scale industries

3. % Abolishing Licensing



4. % Privatisation

Question Number : 116 Question Id : 630680254663 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

1955 #r &4 @A, ¥ gefag o

Options :

., 73 s

1

, . T Y & sz

5« CTSHIEET P FATCT Hla

4_uﬁm

Question Number : 117 Question Id : 630680254668 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

At time of liberalization, pre requisite of removing budget deficit was:
Options:
1 % Surrendering of revenue

> w Decisive reduction of non-development expenditure

3. Increase in foreign debt



4 % Decrease in development expenditure

Question Number : 117 Question Id : 630680254668 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 118 Question Id : 630680254669 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Industrial Production was highest in which of the following plans:
Options :
1 % Eleventh five-year plan at 6.3%

5> w Eighth five-year plan at 7.2%

3 Tenth five-year plan at 8.2%



4 % Ninth five-year plan at 12.6%

Question Number : 118 Question Id : 630680254669 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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| 6.3% 9T FREEr THasy At
5 % 7.2% 9T HTSET TEENT AT

3 v 8.2% T ZHET TEadi AT

4 % 12.6% W Al gty g

Question Number : 119 Question Id : 630680254672 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The skill endorsement aspect was covered under which employment scheme:
Options:
1.+ TRYSEM

> % MNREGA

3 % IRDP



4 % JRY

Question Number : 119 Question Id : 630680254672 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

|« SFEH (TRYSEM)

, % FAWT (MNREGA)

5 RIE (IRDP)

4 % FITEE (JRY)

Question Number : 120 Question Id : 630680254674 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which event/s led to enforcement of Environment (Protection) Act, 19867
Options:
1 = Environmental degradation

> % Ozone layer depletion

3 Bhopal Gas tragedy



4. % None of these

Question Number : 120 Question Id : 630680254674 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 121 Question Id : 630680254524 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Law of demand was graphical illustrated by:

Options:

1.« Marshall

2. % Adam Smith

3 % Pigou

4. % Fisher

Question Number : 121 Question Id : 630680254524 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

AT & f&TF Fr HeEr =, eI TR w1

Options :

|« FTE (Marshall)

, » A TEAY (Adam Smith)

- 91T (Pigou)

4 % TR (Fisher)



Question Number : 122 Question Id : 630680254544 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

arises because a single firm can supply a good or service to an entire market at a smaller cost than could two or
more firms.

Options:

1« hatural monopoly
> w Perfect competition
3 % Duopoly

4 % Oligopoly

Question Number : 122 Question Id : 630680254544 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 123 Question Id : 630680254564 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

When there are negative externalities:

Options :

1« Marginal social cost is higher than the marginal cost.

> % Marginal social cost is less than the marginal cost.

3 % Marginal social cost is equal to the marginal cost

4 % Marginal social benefit is equal to the marginal cost

Question Number : 123 Question Id : 630680254564 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
HOTcHS o [eUfadr g T,

Options :

| v THET FHEs w1, AT aeg 8§ 3 g g

, » BAT FATSS o0d, AT 6T § FH gar §

5 » GAT FHAGS T, AT dET & W& aiar &



4« TR FATSS o8, AT SR & T Eam &

Question Number : 124 Question Id : 630680254576 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

By the “invisible hand of the market,” Adam Smith was referring to:
Options :

1 % scarcity

> % greed

3. competition

4 % monopoly

Question Number : 124 Question Id : 630680254576 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

TeA fme (Adam Smith) & "SR & 39T @ (invisible hand of the market)" ZamT T wefiia
forar &2

Options :

1 % 3T

2. % olleld



Question Number : 125 Question Id : 630680254577 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The three main major macroeconomic goals of any society are:
Options:

1 % Maintaining stable prices, reducing interest rates and achieving high rate of economic growth
5 % Mainfaining high levels of employment, increasing the supply of money. and achieving high rate of economic growth
3. Maintaining stable prices, high levels of employment and achieving high rate of economic growth

4. % achieving high rate of economic growth, reducing unemployment and reducing rate of interest

Question Number : 125 Question Id : 630680254577 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
e o A % T wAfe i & &7 75 vAE @ g £l

Options:
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Question Number : 126 Question Id : 630680254584 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is always correct about Nash equilibrium
Options :

1 = Any player has the incentive to change its action unilaterally

> % Itis suboptimal collective strategy

3. % There can be two equilibriums when both the firms simultaneously play the same strategy

4.+ No player has anything to gain by changing its strategy given the strategy of the other player

Question Number : 126 Question Id : 630680254584 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

fm=fof@a & ¥ Fla-91 Fu=, Ju dgoa & T8 7 gA Fe g7

Options:
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Question Number : 127 Question Id : 630680254585 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In a Game Theory, the set of outcomes for a game is determined by:

Options :

1 = Equilibrium

3 « Pay off matrix

4 % Shifting the steel firm

Question Number : 127 Question Id : 630680254585 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
A7 S (Game Theory) #, ¥@ & IRUmA 1 T o faeifa frar s &

Options :

Tger (Equilibrium)

1. %

, « 9 HE (Pay off)



5 v T HE AfgFd (Pay off matrix)

4 » TS AIHTEe (Strategy profile)

Question Number : 128 Question Id : 630680254593 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
The nominal GDP is ¥ 36,000 and real GDP is Z 34.000. GDP deflator therefore is:

Options :

1.« 36000/34000

2 % 34000/36000

3 % 36000-34000

4 % 36000%34000

Question Number : 128 Question Id : 630680254593 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

g . (GDP) 236,000 § 3 arafess Shdrdh. (GDP) 234,000 21 swforw shddh. (GDP)
wrfas,  f

Options:

1.+ 36000/34000



, % 34000/36000
5 % 36000-34000

4. % 36000+34000

Question Number : 129 Question Id : 630680254603 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Consumption spending is likely to increase with:

Options:

1. % arise In taxes
2 & arise in investment
3. % afall in wealth

4. % Arise In interest rates

Question Number : 129 Question Id : 630680254603 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
F WY 3T T ToA FHT FAGAT 2T 2

Options :
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Question Number : 130 Question Id : 630680254618 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Demand deposits of banks include:
Options :

1 % Fixed Deposits
5 % Government Deposits
3 % Recurring Deposits

4« Current Account Deposits

Question Number : 130 Question Id : 630680254618 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

aT Fr F=T FATHT H, anf&Eer £

Options :

1 % NTETSw FAT
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Question Number : 131 Question Id : 630680254639 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The Annual Financial Statement or the main budget document consist of the following except:

Options :

1. ¢ Deposit and Advance Fund

> w Contingency Fund of India

3 % Consolidated Fund of India

4. % Public Account

Question Number : 131 Question Id : 630680254639 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 132 Question Id : 630680254641 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Asa percentage of GDP has the largest share in the revenue expenditure of Union government in 2021-22.

Options:

1. % Subsidies

5 « Interest Payment

3w Defence expenditure

4. % Pensions

Question Number : 132 Question Id : 630680254641 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

202122 ¢ TN & T o7 # Héh (GDP) F yem s &0/, & v o smhndy
2|

Options :

1. % WHiewEsT
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Question Number : 133 Question Id : 630680254642 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What are transfers recorded in the current account of the BOP statement that include pension, remittances, gifts, etc. for
which no specific services are rendered, called?

Options :

1. % Invisible trade

2. % Bilateral transfers

3.« Unilateral transfers

4. % Barter

Question Number : 133 Question Id : 630680254642 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 134 Question Id : 630680254655 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

These shareholders are also known as residual owners:

Options :

1« Equity Shareholders

2 % Preference Shareholders

3. % Debentures Holders

4. % Convertible Shareholders

Question Number : 134 Question Id : 630680254655 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
S AT Fr s T F T H off =T I 2

Options :
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4. % Qﬁﬂﬁ?ﬁﬁﬂm

Question Number : 135 Question Id : 630680254659 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

National Sample Surveys came into existence in:

Options :

1« 1950

5> % 1951

3 % 1949

4 % 1952

Question Number : 135 Question Id : 630680254659 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
TET gfage’ @aefor, " HAEgea F

Options :



|« 1950

2 % 1951

5 % 1949

4 % 1952

Question Number : 136 Question Id : 630680254675 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

What is the main objective of Kasturba Gandhi Balika Vidyalaya?
Options :

1 Setting up residential schools at upper primary level for girls

> % Providing mid-day meals to girl child

3 % Increasing enrollment ratio of girl students in secondary level

4 % Focus on elementary education of girl students

Question Number : 136 Question Id : 630680254675 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
FHEqLaT el anforer fagamers a1 7T 327 Far 27

Options :
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Question Number : 137 Question Id : 630680254676 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Read the following statements and chose the correct option:

Statement 1: In order to improve agriculture marketing, the government regulated agriculture markets to create orderly
and transparent marketing conditions.

Statement 2: Cooperative marketing helps in realizing fair prices for farmers’ products
Options :

1. % Both statements are false

2.« Both statements are true

3. % Statement 1 is true but statement 2 is false

4. % Statement 2 is true but statement | is false

Question Number : 137 Question Id : 630680254676 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 138 Question Id : 630680254677 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Integrated Child Development Services, a program started by Indian Government to tackle the problem of:
Options:

1.« Malnutrition

2 % Education

3. % Child labour

4 % Mid—day meals



Question Number : 138 Question Id : 630680254677 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
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Options:
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Question Number : 139 Question Id : 630680254679 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Problems of Informalization of labour does not include:

Options:

1 % Lack of social security measures

5> « Increased productivity

3 % Lower wages

4 % Reduces the tax base based on incomes of the employees



Question Number : 139 Question Id : 630680254679 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
HH F HATAERIRIOT Hr FHERETIT A, nfHer 7T

Options :
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Question Number : 140 Question Id : 630680254684 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Tendulkar Committee Report (2004-05) gave report on:
Options :
1« Poverty line estimates

5> % unemployment

3 % Technological backwardness



4 w Banking sector

Question Number : 140 Question Id : 630680254684 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 141 Question Id : 630680254515 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

If the demand equation is given by D= 1000-P and the supply equation is given by S= 100+4P,

equilibrium price would be:

Options :

1 % 160

5>« 180

4 % 200

Question Number : 141 Question Id : 630680254515 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

afe T FAE D = 1000-P § R 3Mef wHer S = 100 + 4P g, & wqew e,
Gl

Options :
1. % 160

5> 180

5 % 170



4 % 200

Question Number : 142 Question Id : 630680254517 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following can be a reason for an exception to the law of demand?

Options :

1 = Greater proportion of expenditure on commodity in the consumption basket

>  Expectation about future prices

3. % Increasing marginal utility

4 % Large number of substitutes

Question Number : 142 Question Id : 630680254517 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Frf@a 7 @ Fi-a1 Ty AT F FgF F 399 F1 FROT & T 87

Options :
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Question Number : 143 Question Id : 630680254522 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What do ‘a” and ‘b’ represent in the demand function Qd=a-bP?
Options :

1 % Quantity and price

2. % Income and Taste

3.« Constant Intercept and gradient

4 w Elasticity of demand and supply

Question Number : 143 Question Id : 630680254522 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
AT Bl Qd=a-bP & 'a’' 3R 'b' Far =g =g &7

Options :
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Question Number : 144 Question Id : 630680254525 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In case of a homogeneous production function, the expansion path is:

Options :
1. # Convex
2. % Concave

3.« Linear

4. % Curvilinear

Question Number : 144 Question Id : 630680254525 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
T 3TTeA F1AT & AHer &, FEaroT Ty, g gl

Options :

1. % 3Scdol



Question Number : 145 Question Id : 630680254529 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

In the standard form of the Constant Elasticity of Substitution (CES) production function with two inputs, Q=A [a(?'e—
(l-0) L'H] 18 «q» i the:

Options :

1 % Scale parameter

> % Distribution parameter

3 Efficiency parameter

4 % Substitution parameter

Question Number : 145 Question Id : 630680254529 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 146 Question Id : 630680254540 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A perfectly competitive firm can sell all the output it wants to:

Options :

1w By cutting down supply of output

> w By lowering the price, it charges for each additional unit produced

3 % By lowering its costs of production

4.« Without lowering the price

Question Number : 146 Question Id : 630680254540 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 147 Question Id : 630680254562 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Sweezy’s model fails to explain:

Options :

1« How price is determined

> w Indeterminate demand curve and price rigidity

3 % Non price competition

4w Interdependent decision making

Question Number : 147 Question Id : 630680254562 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
ST FT Alsd TS OTE F:iT H TF 82

Options :

| v BFT S8 FUiRT g g
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Question Number : 148 Question Id : 630680254575 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Branch of economics which examines the factors that influence individual economic choices and how markets
coordinate the choices of various decision makers is:

Options :

1. % Public economics

2.« Microeconomics

3 % Economics of development

4. % Macroeconomics

Question Number : 148 Question Id : 630680254575 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 149 Question Id : 630680254586 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Prisoner’s Dilemma is a:

Options :

1. % ZEro-s51m game

2 Non-zero-sum game

3 % sequential game

4 w repeated game

Question Number : 149 Question Id : 630680254586 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Far @1 gfaer (Prisoner's Dilemma) TeF, gl

Options:

| % SRI-GH 917 (zero-sum game)

5 » FA-S-HH AF (Non-zero-sum game)



5 « BEATETS AA (sequential game)

4 % NUIEE 917 (repeated game)

Question Number : 150 Question Id : 630680254587 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The best strategy in Prisoner’s Dilemma is to cheat when:
Options:

1 % You play the game several times with different opponent
> % You play the game several times with the same opponent
3. % Never, cheating is wrong

4 v YOu play the game once

Question Number : 150 Question Id : 630680254587 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 151 Question Id : 630680254589 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In a two-sector model, circular flow of income takes place between:

Options :

1 % Firms, Government

5 % Government, households

3 « Firms, households

4 w Foreign sectors, households

Question Number : 151 Question Id : 630680254589 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
- AlsA H, HT FH THT T8 % & 2T 2l

Options :
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Question Number : 152 Question Id : 630680254599 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What happens to Average Propensity to Save, when disposable income increases?

Options :

1.« Increases

2 % decreases

3. % Remains constant

4 % Isunity

Question Number : 152 Question Id : 630680254599 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

ST ¥ # IR AR W, T99 e TS Fgied W FT THF g 82

Options :

v T E



Question Number : 153 Question Id : 630680254616 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a function of money:
Options :

1 = Medium of exchange

> % Standard of deferred payments

3« Index of prices

4. % Unit of account

Question Number : 153 Question Id : 630680254616 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

frfaf@a & & #ia-ar Reeq, 7gr &1 &4 7@ &2

Options :
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Question Number : 154 Question Id : 630680254619 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Monetization of an economy is measured by the ratio of GDP and:

Options :

1 % MI
2 v M2
3 % M3

4 % M4

Question Number : 154 Question Id : 630680254619 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

ot srdrezaeen 1 Ao, ¥ (GDP) 3R ¥ Feard ¥ AT S E

Options :

1. % M1



2« M2

5 % M3

4 % M4

Question Number : 155 Question Id : 630680254626 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Who gave the Absolute Cost Advantage model of international trade?

Options:

1.« Adam Smith

2. % Bertil Ohlin

3. % David Ricardo

4. % Alfred Marshall

Question Number : 155 Question Id : 630680254626 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
TSI ST T 9IH 91T ofef ArsaT fhae feam?

Options :

| v @A 7T (Adam Smith)



, w Sicer Hgfeer (Bertil Ohlin)

5 « sfas R@rst (David Ricardo)

4 3ToWhs AT (Alfred Marshall)

Question Number : 156 Question Id : 630680254629 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The levying of taxes is which function of the budget?

Options :

1. % Stabilization

2« Redistribution

5 % Stability

4. % Growth

Question Number : 156 Question Id : 630680254629 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
FT TINAT, I FT FIA-TT FT 22

Options :

1_@5%




an TR

Question Number : 157 Question Id : 630680254664 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following events was not responsible for the New Industrial Policy of 19917
Options:

1 % economic crisis relating to its external debt

2. % Recommendations of WTO and IMF

3. % Fiscal Imbalance

4« Efficient management of the Indian economy

Question Number : 157 Question Id : 630680254664 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
Frafofe & & #ia-dr oo, 1991 & 75 icnfs AT F P seqerd 78 &

Options :

| » FEY KOT & FEAOS HMEE Hde



- Seeg2IaT (WTO) 3R 3STHATS (IMF) #r 37geram

3. # ¢ -t

i~ L h
4 HANATT HUSTTLAT pl f%l?ﬁl' EELE]

Question Number : 158 Question Id : 630680254665 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was not a part of Liberalization policy?
Options:

1 = Deregulation of Industrial Sector

2. % Tax Reforms

3 % Irade and Investment Policy Reforms

4. + Disinvestment

Question Number : 158 Question Id : 630680254665 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
FraofEa 7 ¥ Fig-ar SeeT seieor #ifg & fgwar 78 a1

Options:

| A & w1 Rt




Question Number : 159 Question Id : 630680254670 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

One of the major aims of financial sector reforms is to;

Options :

1 % Widening of tax base

5> « Transform the role of RBI from regulator to facilitator of financial sector.

3 % Free entry of foreign banks

4 % Reduction of import tariff rates

Question Number : 159 Question Id : 630680254670 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

e &9 & gurt #7 U 959 3237, gl

Options :

1 % T AU & @R
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Question Number : 160 Question Id : 630680254680 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

As per Periodic Labour Force Survey 2021-22, Unemployment Rate in usual status for youth persons of age 15-29
vears in India was;

Options :

1. % 4.1%
2 % 8.6%
3.« 12.4%

4 % 15.8%

Question Number : 160 Question Id : 630680254680 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

TR 47 T W 2021-22 3 HWR, $ A 15:20 W A 3 F T e o v e
Rfg A s ey o



Options :

1 % 4.1%
> % 8.6%
3 v 12.4%
4 % 15.8%
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar?: No

Discipline4
Section type : Online
Section Negative Marks : 0.25
Enable Mark as Answered Mark for Review and

Yes

Clear Response:
Maximum Instruction Time : 0
Is Section Default?: null

Question Number : 161 Question Id : 630680254521 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

How can a firm estimate market demand curve for its product?

Options :

1 = By combining price elasticity of individual demands



> % By adding consumer surplus to total expenditure

3 % By multiplying price by quantity demanded

4« BY combining individual demand curves horizontally

Question Number : 161 Question Id : 630680254521 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
T GF 9 30916 & T 9I9R A9 35 I Tahed 7 JoN T Goa 27

Options :

| TIF A A HES 6 F FAES A

. SUsiEr T g9q F FA T H S5

- FIHT & AT Hr AT @ Fom FLF

4'¢Wﬂﬁaﬁ#$ﬁamqﬁﬁmdﬁﬁ

Question Number : 162 Question Id : 630680254531 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Economies of scale emanate from:

Options :

1 = Learning by doing



> % Production of two different products jointly

3 % Production of two complementary products separately

4. + Production bulk

Question Number : 162 Question Id : 630680254531 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
T2 3\ & ey, ¥ 39 BT 2

Options :

1. % L @

- 2r f&e= 3carer &+ chhﬁ 3cTE

L« & T 3 F JUF 3ee

4 v T3 YA W 3eIEA

Question Number : 163 Question Id : 630680254538 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following short-run cost curves is a rectangular hyperbola?
Options :

1 % Average variable cost curve



> % Marginal cost curve

3 % Average cost curve

4 Average fixed cost curve

Question Number : 163 Question Id : 630680254538 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
@ 7 @ Fia-T1 3eTned aed 3%, U6 HITHR AHaRaed 87

Options :
1 % HAEg 9REdr e 3%

> % AT dEd IH

3. % AT AT TH

4 v AEg Fug o 5%

Question Number : 164 Question Id : 630680254560 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In short run, a monopoly firm can make:

Options:

1. % Losses



> % Normal profits

3. % Super normal profits

4« Losses or Normal profits or Super normal profits

Question Number : 164 Question Id : 630680254560 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
oI H, Th THTUHR FH

Options :

1% I FI & W B

, « TEATT T3 HaAd FT Thar &

5« HOAEET s HET = TR &

4 v P EIE T WA o T HEHET AT g HehaTl 8

Question Number : 165 Question Id : 630680254561 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Price discrimination on personal basis can be done through all of the following EXCEPT:

Options:

1 « Geographical



> % Demographical

3 % Paying capacity

4. % Need

Question Number : 165 Question Id : 630680254561 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

T i om T s e Ao MR M S wa

Options :

1. v dieiferes

5 % SATTETST

" Elj‘-"lrllﬂ'l ETH A

4 % FTERTFHAT

Question Number : 166 Question Id : 630680254566 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The production of a good results in positive externalities. The government should:
Options :

1« Give the producer subsidy which reflects marginal benefit from consumption of the good



> % Give the producer subsidy which reflects marginal cost of the externality
3. % Impose a tax on the producer which reflects marginal benefit from consumption

4 % Impose a tax on the producer which reflects marginal cost of the externality

Question Number : 166 Question Id : 630680254566 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

forelr 9 % 3eTew o TR YRIeHe aRufea e g €1 FER

Options :

1_@}3@#%@%%@@%%%@%%@

, « de:fRufy & dEa aea F gl ael seueH Afendr A AR

5 % 3cdge O 39T H GrATT T I 22 dTe T 9T ATgT

4 » 3cEe W agfEufE & @\ are # g arer X e age

Question Number : 167 Question Id : 630680254568 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Who suggested imposition of a tax, known today as corrective tax to tackle negative externalities?

Options :



1. % Vilfredo Pareto

2 % Ronal Coase
George Akerlof

4+ Arthur Pigou

Question Number : 167 Question Id : 630680254568 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

e aig: et & faven & for &0 feseor &1 g formt fean, o awmmer & gumress
% ¥ 8 T A 87

Options :

| w [IERST 9T (Vilfredo Pareto)

, % U=iel H= (Ronal Coase)

5 x SIS TeaE (George Akerlof)

A 3R o] (Arthur Pigou)

Question Number : 168 Question Id : 630680254574 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Pareto Product Mix Efficiency equation is:



Options :

MRS? yyv=MRSE

1. %
, » MRS gy = MRPTxy

3 % MRTS® gp =MRTSY gp
4 % MRS® gy =MRTSX

Question Number : 168 Question Id : 630680254574 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

T 3care T aTEar T, gl
Options :
. » MRSA xy = MRSE

, v MRS" xy = MRPTyy

5, = MRTSX | = MRTSY

4 = MRSA xy = MRTSX |

Question Number : 169 Question Id : 630680254582 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



According to Pigou. the pollution level by a steel industry affecting fisheries in the area can be brought to
efficient leve] by:

Options :

1 % Shifting the steel firm

> w Closing the steel firm

3 Taxing the steel firm

Shifting the steel firm

Question Number : 169 Question Id : 630680254582 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

91 (Pigou) & ¥R, T 89 & Aeey oA F WA R T S5 3T F W0
B T TN TR A T FR R A A T

Options :

AcET 9ol il TIAART F4h

, « ST BH H aG FH
3 v SEI BH 9T F TMH

4w TS BH F TGRS FF



Question Number : 170 Question Id : 630680254604 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

If actual output is to the right of intersection of 45-degree line and the AD curve, then which of the following is true?
Options :

1« There is excess supply of goods
> % Thereis a situation of equilibrium

3. % There is fall in firms” inventories

4 w There is inflation in the economy

Question Number : 170 Question Id : 630680254604 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

I T e R AR AD T F T s @ i Tam §, F SeRRe A
FA-7 RFew 77 £

Options :

T AR A &

1

- Heqere @ foufa &

. B A S A P

, w FUTITAT F FETS B



Question Number : 171 Question Id : 630680254611 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

According to Keynes the short run aggregate supply curve is:
Options:

1 % Upward sloping

2.« Horizontal

3 % Vertical

4. % Indeterminate

Question Number : 171 Question Id : 630680254611 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

HrH & HTAN AT TH s as, _ F
Options :

1 % FR Fr AT A drer

RG]

3_@53*—3‘[‘?-]?



Question Number : 172 Question Id : 630680254622 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

General agreement on tariff and trade was replaced by:
Options:

1 = Multilateral trade agreement

> # Cross Regional Trade Group

3 World Trade Organization (WTO)

4 % North American free trade agreement

Question Number : 172 Question Id : 630680254622 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

¢ 3 @R W aEeT TAsianGeneral agreement on tariff and trade) @ CEIN
Sfereunfra foram mar e

Options :

. Eg*—im =TI THESET (Multilateral trade agreement)

FT AT €5 79 (Cross Regional Trade Group)

o T@9F SR "5 (WTO)

4w TR HATEH HFd 2MR FASACT (North American free trade agreement)



Question Number : 173 Question Id : 630680254623 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The mercantilist propagates to:

Options :

1 % Encourage exports and imports

>  Encourage exports and discourage imports

3 % Discourage exports and encourage imports

4 w Discourage exports and imports

Question Number : 173 Question Id : 630680254623 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

SATIITETEY, FT HIT FIT B

Options :

|« foara 3R 3 A SR B

5 [T F SeEed W HR g # Eecaea w1

5« AT # Ecafea &= AR 3T # deed w3

4« TAET AR s wr SAecafea Fa



Question Number : 174 Question Id : 630680254627 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

According to mercantilists, trade is a:
Options :

1 = Positive sum game

> % Negative sum game

3 Zero sum game

4 w Infinite sum game

Question Number : 174 Question Id : 630680254627 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

STINETIEAT % AN, SR TH gl
Options :

1 % UATCHS T Tl

5 % RUMcHS TR W

;v TH fer W



Question Number : 175 Question Id : 630680254634 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cannot be classified as a revenue receipt of the government?

Options :

1. % Interest received on loan

5 % Taxreceipts

3. « Disinvestment

4. % Profits of PSU

Question Number : 175 Question Id : 630680254634 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

frefof@a & @ B @R $1 79 Tita & &9 # efigd 7@ a1 o T g7

Options:

1w RUT 9T 9red &1

2. ® WQTﬁ#mT

3 v Tafeaer

4w TCHY (PSU) T amey



Question Number : 176 Question Id : 630680254644 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Hypothesis can be stated in all ways except as:

Options :

1. % Directional statement

2. % Relation between variables

3.« General statements

4. % Declarative statements

Question Number : 176 Question Id : 630680254644 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
ol & & 50 ois v @t g @, e @ R B o1 v 22

Options :

1w feress foEvoT

) « SR ¥ 4wy

3 v HAET fEaERoT

4 % GINUTcH® f&aEvo



Question Number : 177 Question Id : 630680254657 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a function of SEBI?
Options :

1 = Registration of brokers of securities market

> % Training of intermediaries of securities market

3 Issuing debentures at stock market

4 w Promotion of fair practices at securities market

Question Number : 177 Question Id : 630680254657 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
fa=fafa 7 @ #i9 @1, 3 (SEBI) &1 &1 740 872

Options :

gias{fa S &% STl FT ISR ol

sfesffar a9 & Feawdt #r i

3 v T TER H FOOT AL FLAT



sieeffar s=iR & 3foa Rfear & semEr &

Question Number : 178 Question Id : 630680254671 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Kamal Nayan Kabra emphasized that failure of Liberalisation policies was because:
Options :

1« Liberalisation policies seek to accelerate growth ignoring disequalization
> % More strategic importance to cottage industries
3. % Inefficient private sector

4 % Weak policies to bring foreign capital

Question Number : 178 Question Id : 630680254671 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

FAT TIF FET & IGHIOT AT THoIar & &8 FROT W AR &ar?

Options :

1¢3Erﬁa?m;ﬁﬁﬁmmﬁrméﬁrma§ﬂaw Fr Ty &7 T §

- FEN 3l & fov it wEfas Age

3 % F&H = &7



, v TR TG A § AR AT H FAAR @l

Question Number : 179 Question Id : 630680254673 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Where was the term Sustainable Development came into prominence:
Options :

1. % Montreal Protocol

2 World Conservation Strategy (1980)

3. % Vienna Convention

4. % Bali convention

Question Number : 179 Question Id : 630680254673 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Tad faerd e FEl W HEAT H HEAT?

Options :

A —— N e
1 % Hllegdel IRl

, » TEeT TIE0T IO (1980)



3 % TaTeT FEACA

4. ® qTell TFEHT

Question Number : 180 Question Id : 630680254686 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The immediate objective of National Population Policy, 2000 was:
Options :

1+ To address the unmet needs for contraception
> w Toachieve a stable population by 2045
3 % Provide integrated service for reproductive and child care

4 % Lower down fertility rate

Question Number : 180 Question Id : 630680254686 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
T FAATEAT Aifd, 2000 &1 dTchlfersh 3237, |

Options :

| o TSR T HOT ST FO FA

5> % 2045 g% TR JFAGEIT 9°d FHA



T R a1 3@ & T THpd ¥ T

3. #

4 % TSI ET T HAT

Is this Group for Examiner?: No

Examiner permission : Cant View

Show Progress Bar?: No
Discipline5

Section type: Online

Section Negative Marks : 0.25

Enable Mark as Answered Mark for Review and

Clear Response: Yes

Maximum Instruction Time: 0

Is Section Default?: null

Question Number : 181 Question Id : 630680254507 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

All of the following are in the purview of microeconomics except;
Options :
1 = What to produce?

5 % How to produce?

3  Isthe economy growing?



w For whom to produce?

Question Number : 181 Question Id : 630680254507 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
AT 7 ¥ e o IV g5 ey cafte s & gt 7 anfie 7

Options :

| % FT 3ICA HLEAT 872

, % 8 TR 3 HT 82

5 FOT FUCTSEAT T W 87

4 x ThEe forT 3cUEa T B2

Question Number : 182 Question Id : 630680254512 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

All of the following facts hold good for consumers’ equilibrium except:
Options :
1 = Utility is maximized at the tangency of budget line to an indifference curve

> w The indifference curve is the highest possible curve attainable by the consumer

3. % Atthe optimum bundle slope of the indifference curve is equal to the slope of the budget line



4. The point of equilibrium may lie within the feasible area

Question Number : 182 Question Id : 630680254512 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
AT 7 ¥ 0 o wfr T suseasH & gEeen F O Ae 2

Options :

|« FATUAR % & o0 Soe [T H TGN | 39ARar dfowas g g

, » HATOAE FF, STsEFAT AN I I=UaH T I% ¢
5 x TEAH T W HACA % S TG0, TAC L@ H FUT % a0 &l ¢

4.J25|FI?~I?-I'+J # g, wreT & F X Bud @ "ohar ¢

Question Number : 183 Question Id : 630680254523 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following will shift demand curve of alcohol to the left?

Options :

1« Health research linking alcohol with heart disease

2 % A decrease in indirect tax on alcohol

3. % An Increase in real income



4 % Asuccessful advertising campaign encouraging alcohol consumption

Question Number : 183 Question Id : 630680254523 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

AT & & i @ Qwew, e F 797 5F F a5 7 iy FEn?

Options:

1_¢ﬂmﬁm@ﬂﬁaﬁﬁ, T TR HFHUTH

) % T W HICTE FT H HaAl

- IrEataes T H Y

4 % ¥E &F 3IHRT F AcATET A JTAT Toh TS [GATH H AT

Question Number : 184 Question Id : 630680254530 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In case of inputs being perfect substitutes, elasticity of substitution of such production functions is equal to:
Options :
1. % Zero

2. % One

3. # Constant



4. nfinity

Question Number : 184 Question Id : 630680254530 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Rfet & o R 3 & Rl # W 3w ael A R A, g d
Options :

U
Py

1. #

2 % Ueh

3_%%54?

Question Number : 185 Question Id : 630680254535 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The elasticity of supply for a good will be less if:
Options :

1 % Itiseasy for firms to enter the industry

5> « There is little spare capacity in the industry

3. % Close substitutes are available to the consumers



4 w Incase of long run

Question Number : 185 Question Id : 630680254535 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

e avg % T sfa & & w7 gt af !

Options :

| AT & TAT FEIIET F JaT FIAT A

Z_meﬁagr-rwaﬁrﬁﬁma’r

5« SUHEATHT & o foee wiawmdr sueey &

4 % O TEO H W AT 8

Question Number : 186 Question Id : 630680254543 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A monopoly is:
Options :
1 % One of the few producers of a homogenous product

5> « Asingle producer of a single product

3 % One of the many producers of a homogenous product



4. % One of the many producers of a differentiated product

Question Number : 186 Question Id : 630680254543 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
THITDHT (monopoly) FaT g7

Options :

. TF T 391G F FS 3cIGH p= k=g o0

5 v THA 3cUE FT The 3c9EH

5 « U WY 3G F FT 3CH H F TH

4« U Tafda soe & % Scuee A ¥ wE

Question Number : 187 Question Id : 630680254545 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Product homogeneity means:
Options :
1 % Minor changes in the same generic product

> « Physically identical products

3 % consumers to prefer one product over another



4w Different prices for different products

Question Number : 187 Question Id : 630680254545 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

3cIE UHETaT T F4T Y 872

Options :

AT AR 3G H AHA qga=

1. %

, « Hifdew T @ FAR 396

, y ST G TF 3G HGE N oA H THG HIA

4 % 3OIT-3IT 3cIar & foIT HeTeT-37eleT Hhiad

Question Number : 188 Question Id : 630680254546 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Elasticity of Average Revenue Curve under monopolistic competition is:
Options:

1 % Equaltoone

2 # Less than one

3 % Equalto zero



4. + More than one

Question Number : 188 Question Id : 630680254546 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
THITOHR FiaeTe’ & Jgd AHd T I & a gl

Options :

1. % Ueh

> % THh B FH

U
Oy

4_¢W@'3:|ﬁﬁ$

Question Number : 189 Question Id : 630680254552 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is a barrier to entry to a new firm trving to enter in a market?
Options :

1.« Patents

> w Perfect knowledge

3 % Low fixed cost of production



4 % Consumer sovereignty

Question Number : 189 Question Id : 630680254552 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

T # T B §] WA @ 7§ & 5o F v, rfoRm # & s e @ s
%

Options :

1_\-,/‘3@2'

quT A

2. %

3 % 3cdes @l foF fFua amerg

“ EREIES] Fﬂ'ﬂm

Question Number : 190 Question Id : 630680254588 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Nash equilibrium is:
Options :

1« Where each player chooses his best (optimal) strategy given the strategy of the other players.

5> % atleast one player is not maximizing



3. % all players earn the same payoff

4 % There is no interdependence of the players

Question Number : 190 Question Id : 630680254588 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
e TJeA T@T 2 g, |

Options :

- TG Tl 9T Hed TR b U A GEH e GaAS (F5CAH) AT oAl §

o % N8T HH ¥ HHA Tk a7 HTehdAeior el T @1 2l &

5 « 8T TfY 98T WATE 9HTG (payoff) H#fSd T @ & 8

I

Question Number : 191 Question Id : 630680254598 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In a two-sector model, an increase in investment of Z100 crores, leads to an increase in consumption of 2300 crore. The
marginal propensity to consume will be:

Options :



Question Number : 191 Question Id : 630680254598 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

287 aed &, fdw & 2100 F5 & 3 & 39 & 2300 T A e @ik g1 I e F o
oA e, @l

Options:

| % 1/5

5 % Y

3.V Y

4 % 103

Question Number : 192 Question Id : 630680254600 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
If APS=0.25, this implies that the:

Options :

1« economy will save 25 per cent of its disposable income



» economy will consume 25 per cent of its disposable income

3 % economy will save 75 per cent of its disposable income

4 % There is no relationship between saving and consumption

Question Number : 192 Question Id : 630680254600 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
APS = 0.25 g @ arcad g &,

Options :

- HISTITAT TIRT HIAT AT HT F1 25 giaerd s=99 Far seen

, x HUHIEYT SEANT AT FAT HT HT 25 Ffewera 39T f3ar eam

5« JUSTIEYT TERT 39A FAST AT FT 75 Ffoerd g9 fomar Sreem

4« FEd AR 3T & d9 FS FET F@T 8

Question Number : 193 Question Id : 630680254606 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a reason for excess demand?

Options :

1 % Increase in investment expenditure



> w Increase in money supply due to deficit financing
3« Increase in import demand

4 w Increase in disposable income

Question Number : 193 Question Id : 630680254606 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
TaefEa § ¥ sia-ar BT 3% AT 1 FRoT J81 &2

Options :

- ﬁﬁ“arcwﬁ{ﬂ&

. e ¥ Redma & FRoT 7o A #7 i

2.

5 o AT AT F e

4 x TOST T H IR

Question Number : 194 Question Id : 630680254614 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Narrow money does Not include:

Options :

1« Term deposits



> % Notes in hands of public

3 % Coins in hands of public

4 % Demand deposits of banks

Question Number : 194 Question Id : 630680254614 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
TFiaa Tq&T 7, e 7T E

Options :

1.9 ERICUREE I

5> % AT H 39T AT

3 % ST H 3uae B

CE # T e

Question Number : 195 Question Id : 630680254617 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

As per RBI's Working Group on Money Supply, postal deposits are a part of which of the following:

Options :

1 % Ml



2 % LI

3 v M2

4 % M3

Question Number : 195 Question Id : 630680254617 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
FET F AT (RBI) & FHFT WA & WX, 5 FAC WeAian # § e 67 2

Options :

1. % M1

5> % L1

3.v M2

4 % M3

Question Number : 196 Question Id : 630680254624 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a non-tariff barrier in international trade?
Options :

1 % Export ban



> % Export control

3 Import Quota

4 w Import duty

Question Number : 196 Question Id : 630680254624 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
FRlT # ¥ Fi-9 Teew, 3Ry R § -4 s 2

Options :

|« forha wfeey

2. % mﬁ?m

3 HITT eT

g, w STTATE e

Question Number : 197 Question Id : 630680254625 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is also known as Bretton Wood twins?

Options :

1.« IMF and IBRD



2 % IBRD and IDA

3. % IMF and IFC

4. % IBRD and ADB

Question Number : 197 Question Id : 630680254625 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

fefafea 7 & 58 a7 33 <foew & a1/ & o S e 22

Options :

|« HETATE (IMF) 3T 3meaiamEr (IBRD)

, « FEAHFRST (IBRD) 3R 33T (IDA)

5« IBTATH (IMF) AR 3meTwar (IFC)

4« FTSERET (IBRD) 3R wsiEr (ADB)

Question Number : 198 Question Id : 630680254635 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

All revenues received by Government, loans raised by it, and also its recelipts from recoveries of loans granted
are part of;

Options :



1 % Contingency Fund

2 % Public Account

3.« Consolidated Fund of India

4 % Deposit and Advance Fund

Question Number : 198 Question Id : 630680254635 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

TR AT ST Wt T3, 3 ca fow a0 %on, 3R v 1w Fo Y awer & gw wivewn o
_ #@m

Options :

1 % HTREH®Ar Afer

> % ok o

3 v ¥R &1 wEa &=

4. ® mmaﬁﬁﬁ%

Question Number : 199 Question Id : 630680254650 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In real estate financing, the pledging of property as security of loan without giving up the possession is known as:



Options :

1 % Promissory note

>  Hypothecation

3 % Mortgage

4. % Deed of trust

Question Number : 199 Question Id : 630680254650 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

STEfed & Feqaow &, Feat O o Tevied A W A AP F WA @, F
& T T 2

Options :
1. % I 9T
5  TIeC FUH

3 % TERE

4 % =Og o

Question Number : 200 Question Id : 630680254685 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



A true indicator of economic growth is:
Options :

1 « Percapita income

2. % Real GDP

3. % Inflation

4 % Employment

Question Number : 200 Question Id : 630680254685 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

AF iy &1 ITEafas Hhae, gl

Options :

1;?‘%@%3—“:

, y STEATS ST (GDP)

3. ¥ .:4g 2

4, % TSR
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Question Number : 201 Question Id : 630680254508 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

An economy produces two goods: guns and wheat and the economy’s Production possibility frontier is curved outward.
What can be the reason for this?

Options :

Some resources are better suited for production of guns and others to wheat as the economic resources are not
1.« completely suited to alternative uses.

> w There are economies of scale in production of both the goods
3 % The resources available to the economy are not in fixed supply

An increase in resources devoted to the production of guns requires reduction in resources devoted to the production of
4. % Wheat with given the resources and technology.

Question Number : 201 Question Id : 630680254508 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

W FUETTE & TEGH, S AN A H I H § W FUTT F I G Fe
T & 3T 3 31 SHH T FA0 T 7




Options :

gﬁﬂ-i{-llﬂrl T & 3 ?ﬁ?ﬁﬂﬂi?dt’-ﬂdd ENERCERDEL ¢ Wi 7 g
v 4l 3w & fav O &% ¥ 39 7 §)

. B IEGHT & 39 H 73 47 FEEd g

. Avemarr F v sueey gamEr Fr wfa @fRea @@ §

Tt & SR 5 e A wAE @ ¥ F v, v T s o S &y o F
4 % 3R & forv wafie wanE & w4 A @ g

Question Number : 202 Question Id : 630680254514 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following will not cause a shift of demand curve form its original position?
Options :

1« Change in price of the product itself

> % Change in price of substitute

3 # Increase in population

4 % Increase in per capita income

Question Number : 202 Question Id : 630680254514 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

Rrfoftd & & &l @, &7 7% @ 3w Rl @ fwfiE @ & aww A g

Options :

| v 3 B FAg F oREaH
)« SR & Sme F TR

5, e &

4w vfar zfea smo & 3fe

Question Number : 203 Question Id : 630680254532 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Average Variable Cost (AVC) maybe expressed as the ratio of:
Options :

1« Total Variable Cost (TVC) and total output produced (Q)
TVC and Average Variable Price (AVP)

2. %

3 % Unit Price (W) and Average Fixed Cost

4. % Wand AVP

Question Number : 203 Question Id : 630680254532 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
Hiea ofed o (AVC) @t farerfoflm # & o e & &9 # e o o o €7

Options :

. giEdt @eTE (TVC) AR 3eafed Fef 3c9e+ (Q)

, » TVC 3 3ftwg aiadt $Aa (AVP)

5« $H18 FA (W) 3R 3taa g s

4 % W 3R AVP

Question Number : 204 Question Id : 630680254533 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
If Total Revenue (TR) = 110Q- SQZ, Average Revenue (AR) will be:

Options :

| o 110-5Q

5 % 110-10Q

5 % 110-25Q

Question Number : 204 Question Id : 630680254533 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

3 For e (TR) = 110Q- 502 §, ar sifwa #91feT (AR) e

Options :
1« 110 -5Q
> % 110-10Q

5 % 110 -25Q

4 % 5Q

Question Number : 205 Question Id : 630680254547 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A monopolistically competitive firm earns supernormal profit in the short run because of:

Options :

1. % Product differentiation

> w Freedom of entry and exit of firms
3 % Imperfect knowledge

4+ control over the prices to be fixed of the product

Question Number : 205 Question Id : 630680254547 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

W T gt o, F TV FouH H HEAT T AT F B

Options :

1 % 3cdrg fasdreRTor

» « BHI % 939 AR Fem T m@awar
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Question Number : 206 Question Id : 630680254549 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
A collusion is tacit when:

Options :

1. % Demand curve of a firm is kinked
> w Firms engage in price war

3« Firms do not document their agreement and collude

4. % Member firms cheat each other

Question Number : 206 Question Id : 630680254549 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

v Uy, Rl a3

Options :

|« T A @ A T T Ee W

, % BA! B HAT FaeTdl F Fovd g W
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Question Number : 207 Question Id : 630680254550 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a feature of monopolistic competition?
Options:

1 = Many buyers and sellers

> % EXcess capacity

3 % Marginal revenue below average revenue

4« Perfectly inelastic demand curve



Question Number : 207 Question Id : 630680254550 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
TrefaT 7§ o Fia-ar ey weitered gfamfar & v a8 272

Options :

|« F% ar AR R

5> % HATARFT &Far
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Question Number : 208 Question Id : 630680254555 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A monopolist’s profit-maximizing level of output is:

Options :

1 « Below the level that maximizes the sum of consumer and producer surplus
> % Above the level that maximizes the sum of consumer and producer surplus

3. % Equalto the level that maximizes the sum of consumer and producer surplus

4 % Below the level that minimizes the sum of consumer and producer surplus



Question Number : 208 Question Id : 630680254555 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

e THITUFNT F 3caed & aTH HThdH-0r TR, gl

Options :

| 3EER Y A g, S 39 AR 3w FRw & dwe F Htwan w g

5 % 38 TR T TN @ ¢, A 39w 3R SeeH HOAT F Tewer @ HEAH T ¢

5 % 30 TR F W @1 ¢, F 30 AR INeH HRT & el F HOFH HA g

4 u TER ¥ A g 5, I 3 AR SeE HRY & AT T gAaH F ¢

Question Number : 209 Question Id : 630680254556 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

What is the relationship between Price (P), Marginal Revenue (MR), and Marginal Cost (MC) for a profit-maximizing
monopoly that charges the same price to all consumers?

Options :
1. ® P=MR and MR = MC.
2 % P=MR and MR > MC

3.« P>MR and MR = MC

4. % P>MR and MR > MC



Question Number : 209 Question Id : 630680254556 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

Tel TR & TR BT T AT - aEa YR & v Fw (P), dA w9
(MR) 3t #rama o1 (MC) & i &1 Faw &7

Options :

1 = P= MR 3R MR = MC

> » P = MR 3R MR > MC

MC

3« P> MR 3k MR

MR 3T MR > MC

N
#
oy
W

Question Number : 210 Question Id : 630680254579 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Normative economics’ statements:

Options :

1 = Aftempt to describe how and why it happens

> % Areobjective

3. % Are testable

4. Atresubjective and prescribe what should be done



Question Number : 210 Question Id : 630680254579 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
HATADT FIATTT &F FU, |

Options :

| x TE H IR FIT AT §, SHH IUA FA H FAH FA &
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Question Number : 211 Question Id : 630680254583 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Risk refers to a situation in which:

Options :

1 % The outcome is known, but hazardous
> w Exact outcome can be predicted.
3. % Exact outcome is unknown and the likelihood of any given possible outcome is also unknown.

4+ Exact outcome is not known, but the likelihood of each possible outcome is known.



Question Number : 211 Question Id : 630680254583 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
FARF v vEr Byl Fr FefiT war & s

Options :

| » IROTH AE, AT TaF BT &
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Question Number : 212 Question Id : 630680254594 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
GNP and NNP are equal if;

Options :

1. % Net indirect taxes are zero

5> « Capital consumption allowance is zero

3. % Subsidies are zero

4. % Indirect taxes are zero



Question Number : 212 Question Id : 630680254594 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
g W, SruAdr. (GNP) 3t tawadt. (NNP) steT g &

Options :
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Question Number : 213 Question Id : 630680254615 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the examples of commodity money?
Options :
1.« % 10 note

2 % Cattle

3. # Tobacco



4. % Gold

Question Number : 213 Question Id : 630680254615 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

frfa e # & $la-81 o9, 907 FeT (commodity money) T 3EET0T 4T &7

Options :

1 v 210 &7 AT

Question Number : 214 Question Id : 630680254632 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Revenue deficit is estimated to be T 20000 crore and the borrowing is estimated to be 2 15000 crore. If the expenditure
on interest payments is estimated to be 25% of the revenue deficit, what is the primary deficit?

Options:
1.« 10000 crore

2. % 15000 crore

3. #% 5000 crore



4. % 20000 crore

Question Number : 214 Question Id : 630680254632 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

T T 220000 F5 Tl ¢ AT FT 215000 FE Towiod §1 I A §7A W W,
e T &1 25% Jatord ¢, & Tufde e faer 82

Options:

. » 10000 313

, % 15000 13

5 » 5000 FrE

4 = 20000 F=

Question Number : 215 Question Id : 630680254647 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following called for a direct assault upon India’s population problem?

Options:

1 % 1¥Five Year Plan 1952

5 % Target Free Approach, 1996



3 % National Population Policy ,2000

4. Population Policy, 1976

Question Number : 215 Question Id : 630680254647 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
o # ¥ 59 @, 9Ra $F FEea F g W Y 7R R

Options :

| % TEEr qEE€T AT, 1952

, T Had TTeearuT, 1996

5 % TS FATEAT Afd, 2000

4 v SEEEr @ifE, 1976

Question Number : 216 Question Id : 630680254648 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The Agricultural Price Commission was set up in:

Options :

1 % 1955

5> « 1965



Question Number : 216 Question Id : 630680254648 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
F e HTAET HT FUTTAT H &g o

Options :

| = 1955

5> v 1965

5 % 1975

4 % 1985

Question Number : 217 Question Id : 630680254662 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

National Agriculture policy was announced in:

Options :

1.« 2000

> % 2001



3 % 2002

4 % 2003

Question Number : 217 Question Id : 630680254662 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

TSEIT FHiE Ay T Do H &7 715 o

Options :

1« 2000

5 % 2001

3 % 2002

4 % 2003

Question Number : 218 Question Id : 630680254666 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In order to improve efficiency, infuse professionalism, Government started:

Options :

1 % maharatnas, navratnas and dashratans

5 maharatnas. navratnas and miniratnas



3 % Miniratnas, major ratanas and dashratanas

4 % Navratnas Ashtratnas and rajyaratnas

Question Number : 218 Question Id : 630680254666 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
T # QUT A F T T, TR0 H TEH & F o, TR A & foram|

Options :

1 % HeRcd, ddicdd R W=

5 v FERH, dale 3R FiRe

- m,wmaﬁ?aam

4 % T, A AT T

Question Number : 219 Question Id : 630680254678 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The advantage of On-the-job training is:

Options :

1. % Saves time

2. % Faster and more efficient



3. % Saves cost

4 All of the given options

Question Number : 219 Question Id : 630680254678 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
FITT ITNETUT FT T FAT 22

Options :

1 % TAET F =g

2. % ?EB-ﬁTBﬁT:FEFFéFaﬁr

3 % WEIT F gEI

4 v G 7T e Eee

Question Number : 220 Question Id : 630680254681 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Regional rural Banks are sponsored by:

Options :

1 % Commercial banks, State Government and Central Government

2.« Public Sector Banks



3 % Commercial banks, State Government

4. ® Commercial banks and Central Government

Question Number : 220 Question Id : 630680254681 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
& AT dF g grfaa E

Options :

| « FOISTE S, ToT TWHER AR Fg TWHER

zgmm#aﬁﬁ

5 % FMONSTH del, T R

4« aTOSTE dH HR Fg WER
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Question Number : 221 Question Id : 630680254513 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Gain in utility due to increased consumption of a good is equal to which of the following?
Options :

1 = Ratio of the marginal utility of the good and increase in its consumption
5> % Product of the marginal utility of the good and increase in its consumption
3. Sum of the marginal utility of the good and increase in its consumption

4w Difference of the marginal utility of the good and increase in its consumption

Question Number : 221 Question Id : 630680254513 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

fordt v & 3WsiT # 3 & FR0r AR # gfe fofla # & e st e 7

Options :

TG F WA 39AfEn, AR 3 3w 7 3T F e

TG # WA 39AEE, 3R 38 3T # giE & v

2. %

3.¢aﬁﬁmﬂmﬁw,aﬁtmww:§q%#aﬁm
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Question Number : 222 Question Id : 630680254519 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What happens to elasticity of demand for a commodity, if the time involved is long?

Options :

1. # Decreases

2.« Increases

3 % Nochange

4. % None of these

Question Number : 222 Question Id : 630680254519 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
o FAT A FRE IEg AT H S W FA J4E g 82

Options :
| w UT S E

) v TE S E

5 » F% IREAA A& A



4 » TR W FG A

Question Number : 223 Question Id : 630680254526 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

If average product of labour is positive but declining, marginal product of labor could be:

Options :

1 % Declining, but positive

2. % Zero

3 % Negative

4 All of the given option

Question Number : 223 Question Id : 630680254526 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

M 47 7 e TR R ¢, A AR 6, & AF F HA O, HRE

¢l

Options:

| % BIEA, dfchel UellcHe®

U
By
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Question Number : 224 Question Id : 630680254537 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a determinant of the supply of good *A’?

Options :

1 % Improvement in technology

2.« Consumer income
3 % Price of other goods

4 w Price of input

Question Number : 224 Question Id : 630680254537 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

fafof@a # & Fia-a1 Ry, arg A" & aqfd &1 fuve g 22

Options :

, Steif # gum

5 STHFAT T HT
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Question Number : 225 Question Id : 630680254539 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Long run average cost increases due to:
Options :

1 = Managerial efficiency
> # Access to improved technology

3 % Division and specialization of labor

4. + Labour discontent

Question Number : 225 Question Id : 630680254539 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
APEICIGEEICCRCIEI ¥ FHROT g4 &l

Options :

1 % SEURIT GaTdr

- SEeR Sleaifrdhr T ag=
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4 v FH HEAW

Question Number : 226 Question Id : 630680254542 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Perfect competition is a market condition with:

Options:

1. % One seller

> % Single buyer

3 Very large number of sellers

4 w Restricted entry and exit of players

Question Number : 226 Question Id : 630680254542 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

oot iy, vw TR i Tl § e

Options :

|« T fashar gr &

5 % Tl Shall BT g
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Question Number : 227 Question Id : 630680254553 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

One necessary condition for price discrimination is:

Options :

1 = ldentical taste among buyers
5>  Adifference in price elasticity of demand
3 % Asingle homogenous market

4 % Two or more markets with easy resale of products between them

Question Number : 227 Question Id : 630680254553 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Fraa Rea F BT v ameas By, gl

Options :

1. % ShaT3T T AT &=l

) HET H FAT & T HR
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Question Number : 228 Question Id : 630680254554 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

If a monopoly’s fixed costs increase, its price will and its profit will

Options:

1 % Increase, decrease
5 % decrease. increase
3 % Increase, stay the same

4w Stay the same, decrease

Question Number : 228 Question Id : 630680254554 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

e T TR & faug o # 3 o 4, o s feg i g
|

Options:

|, % §F ST, T FCT
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Question Number : 229 Question Id : 630680254557 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A monopoly firm face

Options:

1. % Ahorizontal demand curve

5>  Adownward-sloping market demand curve

3. % A vertical demand curve

4 % Abackward bending demand curve

Question Number : 229 Question Id : 630680254557 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

TF THIIFR FH T G TTHAT FIAT T3 272

Options:

1« T Sfas 7@ %
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Question Number : 230 Question Id : 630680254567 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A kinked demand curve can be explained by:
Options :

1 % Monopoly power enjoyed by oligopolists
> % Other firms follow a price rise but not a reduction
3. Other firms follow a price reduction but not a rise

4 % Firms will form a cartel to fix price

Question Number : 230 Question Id : 630680254567 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Fira 7T 3% F =uTE FEs @Ry Fr ST THar

Options :

| % SRR & THITOHR Afed Trod g
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Question Number : 231 Question Id : 630680254570 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The private marginal benefit to consumers plus any costs assoclated with the consumption of the good that are imposed
on others is known as:

Options :

1 = Private marginal cost
5>  Social marginal benefit
3 % Social marginal cost

4 % marginal private benefit

Question Number : 231 Question Id : 630680254570 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

s9siaTs & fow, foot dwmm e, 3l el awg & T & o, qE W S S A o
AT F T, F ¥ F I T ¢

Options:

1.
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5>  TIATSAS HHATT oeT

3 % WA AT #eTd

4« T S amsT

Question Number : 232 Question Id : 630680254581 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The marginal condition for a Pareto optimal resource allocation requires that:
Options :

1« MRS between two commodities be equal for both consumers

> % MRS between two commodities should not be equal for both consumers

3 % MRS of Consumer A for both commodities should be greater than consumer B

4. % MRS of Consumer A for both commodities should be lesser than consumer B

Question Number : 232 Question Id : 630680254581 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
NET FTaH WEIUA HEea & fov dwa fufy &g e €

Options :



1 Bt sl & e g B & @9 MRS @A @

5 w G 3OsEaTHT & e g S F /7 MRS @A J@ g =T
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4w G T & U 39sieT A #1 MRS, 39S B & MRS ¥ FF g AT

Question Number : 233 Question Id : 630680254596 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Private income is equal to:

Options :

1 % Personal income + Corporate tax - Retained earnings

5> « Personal income + Corporate tax + Retained earnings

3 % Personal income - Corporate tax + Retained earnings

4 % Personal income - Corporate tax - Retained earnings

Question Number : 233 Question Id : 630680254596 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
fasir am, F =T 2

Options :




| % TATFIEIT HT + FARE #X - IauiRa 3T

5 « SAFAET AT + FORE F + FAemd JT
3. % e AT - FHRe # + Sfauia 3T
4 % TAFET T - FARE T - FaaRd 3T

Question Number : 234 Question Id : 630680254609 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Keynes theory of employment is based on which of the following concept?

Options :

1 = Production efficiency

5 % Money supply

3 % Propensity to save

4.+ Effective demand

Question Number : 234 Question Id : 630680254609 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
78 (Keynes) & =X g, Fefof@a # @ 79 3@uror © amafg 22

Options :




1. % 3cIIGs &I

Question Number : 235 Question Id : 630680254612 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Aggregate demand curve slopes downwards due to all of the following except:

Options :

1. % Interest rate effect

2. % Wealth effect

3« Ultility effect

4 % Exchange rate effect

Question Number : 235 Question Id : 630680254612 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
T # ¢ 50 oieet Iv mi & FRUr gAY A6 9% § I A A A A 32

Options :



| % ST &I 9

3 v 3UTIEEr geTT

4 % AfEAT ST 9A4T

Question Number : 236 Question Id : 630680254613 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

When the short-run equilibrium exists below full employment level of output then:
Options:

1 = Wages will rise

5> « SRAS can be to the right of the full employment level

3. % Price level will rise

4 % Aggregate output will rise

Question Number : 236 Question Id : 630680254613 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
HoTIfoe Hoe, 3eaea & qUT TSN T & A fPud g ),

Options:
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Question Number : 237 Question Id : 630680254630 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Following is an example of capital receipt of India’s budget:

Options:
1. % Income tax
2. % GST

3. % Interest received on loan

4.« Sale of assets

Question Number : 237 Question Id : 630680254630 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
frrafof@a # @ #i7 @1, 9Ra & a9 I Eed TIed F TF 3eE0T 87




Options :

1. % 3TTRT

, » STEET (GST)

3 % HOT 9T 9T 1=

4 v TEITeT Fr e

Question Number : 238 Question Id : 630680254636 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following indicates that the government cannot meet its current expenditure form current revenue?

Options :
1. % Current Deficit
2.« Revenue deficit

3. % Fiscal deficit

4 w Primary deficit

Question Number : 238 Question Id : 630680254636 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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Options :

=ITe] ©TeT

1. %

2 o A8 HICT
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Question Number : 239 Question Id : 630680254654 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a feature of public policy?
Options :

1.« Static

2 % Goal oriented

3 % Positive or Negative

4. % General

Question Number : 239 Question Id : 630680254654 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
faeo@aT 7 ¥ Fia-91 BT, aiF Afag & &F9war 7&1 22

Options :

1_41!:9}%%"

T ﬁ'ﬁqﬂﬁ'

3 % THERICH® IT AFRICHH

4, % GTEIRUT

Question Number : 240 Question Id : 630680254683 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are correct with respect to PM Gati Shakfi mission;

1. It mainly targets to cut logistic costs.
2. Tt can spur trade competitiveness, promote exports and generate employment.

It is based on 6 pillar strategy that aims to lend more power and speed to projects by connecting all departments on one
platform

Options :
1. % land2
2 % 2and3

3. % land3

4w 1.2and3



Question Number : 240 Question Id : 630680254683 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
dew afe ofes B & wou & frfofde & @ TR F w8 8
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Options:
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Question Number : 241 Question Id : 630680254509 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The opportunity cost to society for construction of a new highway would be:
Options :

1 % The cost of government borrowing to finance construction of highway

5 % The increased cost of taxation to pay for the new highway

3 % The money spent of construction of the new highway

4.« The goods and services that otherwise would have been produced had the new highway not been constructed

Question Number : 241 Question Id : 630680254509 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Tk AT TSFAET & HA0T F v g@s i JaEg g #7291 gE?

Options :
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Question Number : 242 Question Id : 630680254516 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The quantity that a consumer plans to buy depends upon all of the following except:

Options :

1. # Income of the consumer

5> w Price of the product
3 % Future expectation of price

4« Technology

Question Number : 242 Question Id : 630680254516 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

F IUHET A A G TR &, I e & 8 S o o o | ik v

Options :

1 % 3O & AT

) % 391G T HAA

3 % HTET HHT Fearm
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Question Number : 243 Question Id : 630680254518 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Elasticity of demand is determined by all of the following factors EXCEPT:
Options:

1 = Nature of commodity

> w Proximity of substitutes

3 % Time

4. Government policies

Question Number : 243 Question Id : 630680254518 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
A & A w, FEREE 7 ¥ B oew O aef e g e e a2

Options :
| o HT TP

> % FigETeT @ e

3 % HAA
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Question Number : 244 Question Id : 630680254534 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

I the price of a product increases from Rs. 50 o Rs. 60 and as a result the quantity supplied rises from 1000 units to
1200 units, then the elasticity of supply is:

Options :

1. % 0.2

2. ¢ 1

Question Number : 244 Question Id : 630680254534 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

ofe Frelr 30 4 S 50 T F TG 60 T @ I § K TomEww dfd & A 1000
Sl ¥ 1200 SR oF & S g, At T A A gl

Options :

| % 0.2

2. ¢ 1



Question Number : 245 Question Id : 630680254559 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A monopoly maximizes profit by choosing the quantity at which marginal revenue is marginal cost.

Options :

1. % Greater

>  Equal

3. % Less

4. % Greater or lesser

Question Number : 245 Question Id : 630680254559 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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|

Options :
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Question Number : 246 Question Id : 630680254569 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Beehives of honey producers is an example of:
Options :

1 « Positive production externality

> w Positive consumption externality

3 % Negative production externality

4 % Negative consumption externality

Question Number : 246 Question Id : 630680254569 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

IS 3UEH % Bea (Beehives of honey producers) F TF I ¢

Options :
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Question Number : 247 Question Id : 630680254580 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The statement™ Government should impose higher tax on rich to reduce inequality™ is:
Options :

1 % Apositive statement

> % Objective and testable

3 » Afactand very important for inclusive growth

4+ Subjective, prescriptive and normative

Question Number : 247 Question Id : 630680254580 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
"HEAA FH N & [T TWER B FAN T A & T AT Tg F4, £l

Options :
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Question Number : 248 Question Id : 630680254590 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In a four-sector economy, national income is measures as:

Options :

1 ¢ Y=C+T-G-X-M
> % Y=C+I+G-T
3 % Y=C+1+G-X+M

4. % Y=C-I-T-X-M

Question Number : 248 Question Id : 630680254590 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
IR-ET Trel eI H, TET 3T & ¥ ® § AT 0T 2

Options :

| v Y= C+H+G+X-M

5 % Y= CH++G+T



3 % Y= C++G-X+M

4 % Y= CH+T+X-M

Question Number : 249 Question Id : 630680254601 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

From the given digarm. which of the following represnets value of invetsmnt multiplier :

injections,
withdrawls Withdrawals

(+) 7 )
/._ injections 2
/’I‘f YE injections 1
i 1
0 i i .
/ national income
{=)

Options :

1 % YZIXY

> v XY/YZ

3 # XY/XZ

4 % XZIXY

Question Number : 249 Question Id : 630680254601 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



fow v s @, farafoflm & & Fa-a1 Raen fadw o & A a7 oo e 82

injections,
withdrawls Withdrawals

(+) 4 i
/ injections 2
X Yf injections 1

D/ national Inr,ﬁmer
B

injections = Ha:eraor
withdrawls = fafeaaa

national income = uﬁ“{u T

Options :

| = YZIXY

5 v XYIYZ

3 % XYIXZ

4 % XZIXY

Question Number : 250 Question Id : 630680254605 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A shift of the AD curve to the right can be due to:

Options :

1 % Adecrease in government spending

2.« An Increase in consumer confidence



3. % An increase in income tax rate

4 % Widespread fear of recession

Question Number : 250 Question Id : 630680254605 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
AD T&% & g 3T fawam=, & FRUT & ThdT £

Options:

1 % TERRI TE H HAT

, o s w7 i

L » HER I H

4« FET F TAYH 6

Question Number : 251 Question Id : 630680254608 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

According to Keynes. which of the following leads to establishment of equilibrium level of output:

Options:

1 % AD>AS

> % AD<AS



3 v AD=AS

4. % S=1

Question Number : 251 Question Id : 630680254608 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

e (Keynes) % 3w, fawefofl # & -1 e, 3eTea & Weow F€ o FuToet Y 3N &
T &7

Options :
1. % AD > AS

, % AD < AS

AS

3.« AD

4 % S > |

Question Number : 252 Question Id : 630680254628 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

From the following it can be interpreted that:

Country Hours required for Commodity
X Y
A 120 100
B 80 90

Options :



1 % Ahasanabsolute advantage in production of Y while B has a comparitive advantage in production of X

5> % Ahasacomparative advantage in production of X while B has a comparative advantage in production of Y

3« Bhasacomparative advantage in production of X while A has a comparative advantage in production of Y

4 % No country has a clear comparative advantage in production of X and Y

Question Number : 252 Question Id : 630680254628 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

R R saerfiTasdr g ™ |
ar 5w & BT smeeTs O
X Y
A 120 100
B &0 90
Options :

- A @Y & 3cEA H TR W § STl B F X F 3IGH H oreticA® ol §

—_ F X & 3G H JocHAT A ¢ 1% B F Y F 3G H JoAHF oA §

_ B & X & 398 & SECIERCIE TTEFARY F 39T F SECICCECIEY g

. X AR Y & 3earesr 7 FEr off Sar &7 TS JoeATcAS o FAe ©



Question Number : 253 Question Id : 630680254631 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Budgetary deficit of the government is equal to:
Options:

1 % Total plan a non plan expenditure minus revenue receipts

> w Total capital expenditure minus capital receipts

3« Total expenditure minus revenue receipts plus capital receipts

4 w Total expenditure minus market borrowings

Question Number : 253 Question Id : 630680254631 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
WFHR FT AT ©IeT, & ST g

Options:

., Tl TSaAr AR A A1 77 9T () TS Frieaar

+

Fol GARTT ST T (<) TheTd wieaar

Fol AT T (-) TIEF Fieaqar AT (+) THea grieaar

3. %

el 0T T (-) SR FH/OT



Question Number : 254 Question Id : 630680254640 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The intervention of the government either to expand demand or reduce it, is the function of government budget.

Options:

1. % Allocation

2. % Redistribution

3.« Stabilization

4 % Price management

Question Number : 254 Question Id : 630680254640 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
AT 527 UM S/ FH &1 F [T TEN F FEGEY, TN g€ FY ¢l

Options :

1 % HTEed

4 % TIHAT JE



Question Number : 255 Question Id : 630680254645 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Formulation of hypothesis is based on:

Options:

1. % Interviews

2. % Inferences

3.+« Observations

4. % Conclusion

Question Number : 255 Question Id : 630680254645 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

O {eheTaT &7 THEI0T, UT AR g

Options:

1. % HI&TchIY



Question Number : 256 Question Id : 630680254652 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

New Education Policy is an example of which type of public policy?
Options:

1 = Regulatory

2. % Distributive

3.« Substantive

4. % Redistributive

Question Number : 256 Question Id : 630680254652 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

7= e FifT g 9r & aF Jifa F1 38eor 87

Options :

~C
jﬁlﬂd{UIIfHﬁh



Question Number : 257 Question Id : 630680254656 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

What is Badla system?
Options:

1 = Trading in multiples of 100 stock or less

> % Aperiod of pessimism on stock exchange

3. % Another word for stock market

4.« Carry forward system of settlement

Question Number : 257 Question Id : 630680254656 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Sl JUTTeIT 4T 27

Options:

. 100 T 1 388 FH F 0T A 3T Fear

5 % T TEEes R fARmemee #r sEfy

3 % MR ITER & BT 0F 377 a5

4 v FIEE F SIS (F BRES) JoTer



Question Number : 258 Question Id : 630680254658 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Statistics as data does not include:

Options:

1 % Quantitative data

2 % Raw data

3 % Descriptive statistics

4« Tools of analysis

Question Number : 258 Question Id : 630680254658 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
HRst F w7 # eafof@a & ¥ Fur wifewhr 7 onfde a8 87

Options:

| % FAEICHS® 33

5w FIRSEA HTHS

3 % JUIATCHS [ITETT

4 v TIRIEUT & 3900



Question Number : 259 Question Id : 630680254661 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

PC Mahalanobis believed in:

Options:

1+ Physical planning

> w Financial planning

3 % Collective planning

4. % None of the above

Question Number : 259 Question Id : 630680254661 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

9.8, AgTeAeg, H Fw = 9

Options:

1. v difas T

2. ® IEnGIERGEISE]




Question Number : 260 Question Id : 630680254682 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The membership of cooperative banking union is open to:

Options:

1. % Individuals

5>  Cooperative societies

3. % Commercial banks

4 % Both Individuals and Cooperative societies

Question Number : 260 Question Id : 630680254682 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
HEHIT dfeheT WY & HeEEAAT, & T 3uerey g

Options :

1_%@%

, v TEHRT afAfaar

3 % dNoeTes S

.« A 3R B =T
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Question Number : 261 Question Id : 630680254511 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following can be derived from the law of equi-marginal utilities?
Options:

1 % Marginal utility of the cheapest commodity should be equal to marginal utility of income
5 % Marginal utility of the most expensive commodity should be equal to marginal utility of income

3. % Marginal utility of the first commodity purchased should be equal to marginal utility of income

4. Marginal utility of all commodities should be equal to each other

Question Number : 261 Question Id : 630680254511 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
RrfRd # ¥ si9-a Feey Fam-daa st & fFaw @ g G o oo 27

Options :

|« TEE TE W & WA 3R, HY A EAG ST & S g v
, « % TN W & G s, & @ R F S e aRe
5 GG 7 vEe o A dwe s, s G e & e e ke

4_¢mﬁﬁiﬁsﬁ’r¢ﬁﬂﬁ?—rm’rﬁ‘m TH-gE & aUaT gler =1eT

Question Number : 262 Question Id : 630680254527 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Marginal Rate of Technical Substitution (MRTS) in case of neutral technical progress is:
Options :

1 % Increasing

5> % Decreasing

3. #% Zero

4. + Constant

Question Number : 262 Question Id : 630680254527 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
SETAIT TR YA F AR H deheleh SiaEede $ @\ & (MRTS),

Options:

| % Sodr g

, w TEaT §

o LT B E

3.

s v BRETE

Question Number : 263 Question Id : 630680254528 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

If Marginal Product of Labour (MPy_ is greater than Average Product of Labour APy, then APy is:
Options:

1« Increasing

5 % Decreasing

3. #% Zero

4. % Constant

Question Number : 263 Question Id : 630680254528 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
e S & WA U MP, 47 % 3w quewe AP & 3w g, & AP

Options :

| v FoT 8

) % TEATE

o EIAAE

3.

4 % TERX R

Question Number : 264 Question Id : 630680254548 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The extreme case of non-price competition in an oligopoly is:

Options :

1 = Formation of duopoly

2« Formation of cartels

3. % Inter dependent decision making

4 w Atftaining of economies of scale

Question Number : 264 Question Id : 630680254548 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

Te euUeR # R-mew gfawrut fr ma By, gl

Options :

| « CTUTEFR F TSH

5 » 3cCHF T (FIE) FT A

3 % FFAaTAT R oer

4« T2 YA Fr FEET 9T

Question Number : 265 Question Id : 630680254558 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A monopolist’s marginal revenue is the price of its good.

Options :
1. % More than
2.« Less than

3 % Equalto

4. % Not related to

Question Number : 265 Question Id : 630680254558 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
frdr TemfaerRr &7 T\TT @9Ica, 3U% AT $T hrEd

Options :

| w W 3w Eer f

) v WHEA AN E

3 % % WA BT §

4« § FAOT @ E

Question Number : 266 Question Id : 630680254571 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Using a car and emitting carbon contributing to global warming is an example of:
Options :

1 = Positive production externality

5 w Positive consumption externality

3 % Negative production externality

4 Negative consumption externality

Question Number : 266 Question Id : 630680254571 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
FN F I FA A T AT F IR &R T FAT H IHAT F T

T 2|
Options :

| % YellcHS 3cdres aig:fEfa

, % UdATeH® 39seT gty

5 x FHUMcHS 3cdigsT aig:feufa

4 v FOTeAm 39sier afg:fEufa

Question Number : 267 Question Id

: 630680254572 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Negative externality is also known as:

Options :

1.« external diseconomies

2. % Iesource cursc

3 % marginal damage

4 w bublic goods

Question Number : 267 Question Id

: 630680254572 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
HoTeAs afgfRufy =t ® T H 1 FAT ST g

Options :

| v ST FHelH

5 % TaETF FATer

3. % HHAE &

— .
Hldadladch Ci#%lk!

Question Number : 268 Question Id : 630680254573 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

According to Pigou a necessary condition for a maximum welfare is that the marginal social net product (MSNP) of
each resource employed in any use or place be:

Options :

1« Exactly equal to zero

2. % Greater than zero

3. # Lesser than zero

4 % Exactly equal to one



Question Number : 268 Question Id : 630680254573 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

9T (Pigou) % e, 3feam Fwamr & fav smews o 7 § i o o s o v
s Fois TATUR & B WAl Wae 3 (MSNP), REIEIRY

Options :

| v T F Toge TR

, » T HEH

- T ¥ FA

. T & foogpa s

Question Number : 269 Question Id : 630680254578 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Ly )

Which of the following is related to positive economics?
Options:

1 = New subsidies are required to help the poor

> % Women unemployment must be reduced

3.« lfrent controls are imposed, vacancy rates will fall

4 % We should give pensions to old age people



Question Number : 269 Question Id : 630680254578 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
Tofa # ¥ sia-a7 Reey, goRcAs 39T ¥ gafeg 872

Options:

|« & Fr FEE F v a5 wfendr #r EemEar g

5 % AEET3T F WSETE FA FeAr =TT

5 v 3 B Tgor semar e g, @ RFa e w7 g Seet

4 » BH & AN FH GUAS AT AMET

Question Number : 270 Question Id : 630680254591 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
If GDP is % 34,000 crore and net income from abroad is Z (-}4200 crore, then GNP is equal to:

Options:
% 34000-(-4200)
34000x(-4200)

3 34000+(-4200)

4 % 34000/(-4200)



Question Number : 270 Question Id : 630680254591 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

g A (GDP) 234,000 3 § AR fgen ¥ e am 3(-)4200 F3 &, shwadh. (GNP)
__ g

Options :

. % 34000-(-4200)

, « 34000x(-4200)

5 34000+(-4200)

4 34000/(-4200)

Question Number : 271 Question Id : 630680254592 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In the circular flow of income and output, savings is:
Options :

1 = Injection of money

5 « Leakage of money

3 % Additions to capital stock

4 % Addition to government expenditure



Question Number : 271 Question Id : 630680254592 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
AT 3R oA F WHT JAE A, FI9 grar g

Options :
1 % O F HTET

5> v U F RaE

- IS T # aRade

4 % TTRNRT =99 # IREds

Question Number : 272 Question Id : 630680254595 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Wet factor income from abroad is:
Options :

1 % GDP-NDP

> % GNP-NNP

3.« GNP-GDP

4 % GDP-NNP



Question Number : 272 Question Id : 630680254595 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
et P Frm amy, 2

Options :

| » GDP-NDP

5 % GNP-NNP

5 v GNP-GDP

4 % GDP-NNP

Question Number : 273 Question Id : 630680254597 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Disposable income is equal to:
Options :

1.« Personal income —direct taxes
2 % Private income — direct taxes

3. % Personal income — indirect taxes

4. % Private income — indirect taxes



Question Number : 273 Question Id : 630680254597 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

=T (T e, & T 2
Options :
1. v TFIET {1 - JJ&T

2. % =T 31T - 9T ¢

3 % OSdT HT - HITET

4 % [AST AT - F9TET

Question Number : 274 Question Id : 630680254620 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following facts provide Central bank the power to conduct monetary policy?
Options :

1« sole source of primary money in the economy

2. % financial liberalization

3 % supervision on financial institutions

4. % Acts as a Banker to banks



Question Number : 274 Question Id : 630680254620 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
TlRT & ¢ 991 9, &7 3% # Atz A =g F@ & 937 o7 & 7

Options :

1 v HYeTITr # RS a7 F THATT Fid

2 % IERGIE REFRET L

3 % ﬁmmﬂmw

4w S FH FF F T H FY AT E

Question Number : 275 Question Id : 630680254633 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Statement 1: Surplus budget is not desired during periods of depression

Statement 2: Deficit budget is not desired during periods of inflation
Options :
1.« Both Statements are true

2. % Both Statements are false

3. % Statement 1 is correct but Statement 2 is false



4. % Statement 2 is correct but Statement 1 is false

Question Number : 275 Question Id : 630680254633 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
fafaf@aT Fuar # afer 3t @ e &1 I3 AT

FAA 1: A Fr 33 & S 3R goe I™T @7 &

FU 2: FAERfT Fr 33T & e o 1 a1 Jifea 7E 8

Options :

| v A FUFT T E

, % Gl AT T &

5« BUF 1 T § AfeheT YT 2 3T &

4 % FUT 2 TeT g Afehd FUF 1 30T §

Question Number : 276 Question Id : 630680254637 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which Article of the Indian Constitution requires a statement of estimated receipts and expenditure to be laid in the
Parliament every year?

Options :

1 @ 112

5 % 113



3 % 114

4 % 115

Question Number : 276 Question Id : 630680254637 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

S Hauw & 5 3e0T  HER TR 9 §HG A Tasten Sad AN T F e e
A FRTF 8

Options :

1 v 112

5 % 113

3 % 114

4 % 115

Question Number : 277 Question Id : 630680254643 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
What is true for a deductive method?

Options :

1.« Abstract



2. % Realistic

3 % Economic conditions are assumed to be changed

4. % Historical

Question Number : 277 Question Id : 630680254643 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
feHaTeHs 3fr & for T=f@a # @ =01 g7 27

Options :

5« T TRufaat & 9f@as g AT S §

4« U@

Question Number : 278 Question Id : 630680254651 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The ratio of output and input is known as:
Options:

1 % Efficiency



5  Productivity

3. % Production

4 w Costing

Question Number : 278 Question Id : 630680254651 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

H3TYE AN FAYE F A & F T H AT FGT 2

Options :
2. Scdlcehd

3. #® sf:lla;

4 % WETA-TAROT

Question Number : 279 Question Id : 630680254660 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Match the pair:

1. Collection of data | A. Business Statistic
2. Aggregate of facts | B. No Statistics
3. Analysis of time C. Statistics

series

4. One single data D. Statistical method




Options :

1 = L(B). 2(A), 3(D). 4C)

, % L1(A),2(C), 3(D). 4(B)

3 % 1(D), 2(B), 3(C), 4(A)

4 v 1(D).2(C). 3(A). 4(B)

Question Number : 279 Question Id : 630680254660 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

PR #7 BT Y

1. | 3feRst & A. |z mfgmdr
Heholel

2. | Tzt & B. |5 wfewdr
THE Gl

3. |wHw ymer |C. |wifEmd
T Tereeiwor

4. |Ueher MTeRET | D. | wifEmer At

Options :

1. % 1.(B), 2(A), 3(D), 4(C)

5. = 1(A), 2(C), 3(D), 4(B)

3. = 1.(D), 2(B), 3(C), 4(A)



4.« 1(D), 2(C), 3(A), 4(B)

Question Number : 280 Question Id : 630680254667 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which industry saw a boost due to Outsourcing?

Options :

1 % Agriculture sector

2.« IT sector

3. % Cottage industry

4 w» Allof the given option

Question Number : 280 Question Id : 630680254667 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 281 Question Id : 630680254687 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following does not comes under the criteria for “Content Selection’ while developing the curriculum?

Options :

1 = Self-sufficiency

> w Significance

3« Sequencing

4 Utility



Question Number : 281 Question Id : 630680254687 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Terd ERe 7 wRe Reliee & € i o' v aweh m ¥ Aeds F e 7 e

Options:

Question Number : 282 Question Id : 630680254688 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Read the following statements and choose the appropriate response from the options given below:

Statement-1 In learning context, the children need to feel that each one of them, their homes, communities, languages,
and cultures are valuable resources for experience to be analyzed and enquired into at school.

Statement-2 Teaching should be oriented towards construction of knowledge by learners and schools must provide
opportunities to question, enquire, debate, reflect and arrive at concepts or create new ideas.

Options :

1 % Statement-1 is true, but statement-2 is false

5 % Statement-1 is false. but statement-2 is true

3.+ Both the statements are true



4. % Both the statements are false

Question Number : 282 Question Id : 630680254688 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

farafofta Fua & 7iev 3 A v v feedt & § 39 3o g
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Options :
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1. %
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4 % SISl HUT AT &

Question Number : 283 Question Id : 630680254689 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which does not fall under the category of advantages of learning resources?

Options :

1. % It makes maximum use of senses



5> « It encourages rote learning

3 % Itisbased on the maxims of teaching

4. % It meets individual differences

Question Number : 283 Question Id : 630680254689 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
T 7 FiF @1, 30 FEre=T & ot fr Suft F FE 3T 22

Options :

| x St @ Ffeean suEeT R S g
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Question Number : 284 Question Id : 630680254690 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Continvous and Comprehensive Evaluation is introduced as school-based system of evaluation as per Right of Children
fo Free and Compulsory Education Act in the year:

Options :



1 % 2006

2 #® 2007

3 % 2008

4 v 2009

Question Number : 284 Question Id : 630680254690 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

Fo & o s AN s e & st st & sEm wew 3R @rw Aeae A,
FedeRe 1 T HTE SOTel & 9 & fw 9 o o

Options :

| = 2006

5 % 2007

5 % 2008

4 v 2009

Question Number : 285 Question Id : 630680254691 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which among the following categories does not falls under the Psycho-motor domain?



Options :

1. ¢ Comprehension

2. % Imitation

3 % Manipulation

4. % Precision

Question Number : 285 Question Id : 630680254691 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
farafef@s & @ #i7 o 4oh 7=9%F FAE (Psycho-motor domain) & 3R FEr 3T §2

Options :
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Question Number : 286 Question Id : 630680254692 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

If the hearing loss ranges from 60-75 decibels, it is categorized as:



Options :

1. % Mild hear loss

> % Marginal hear loss

3. % Moderate hear loss

4.« Severe hear loss

Question Number : 286 Question Id : 630680254692 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
T A g G 60-75 v T g, A R A e R A @ I

Options :

| w 379 ST BTE
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5 % HETH SE0T B

4 TR SE0T B

Question Number : 287 Question Id : 630680254693 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Lesson planning follows certain steps, select the correct sequence of steps in lesson planning;



Options :

Introduction
Association
Presentation
Application
Generalization
Recapitulation
Home assignment

Hov kW -

Introduction

Presentation
Assoclation
Generalization
Application
Recapitulation
Home assignment

N R WD =

Introduction
Presentation
Recapitulation
Association
Application
Generalization
Home assignment

AR ol &

Recapitulation
Introduction
Presentation
Association
Application
Generalization
Home assignment

SO kW

Question Number : 287 Question Id : 630680254693 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 288 Question Id : 630680254694 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Preparing and motivating children to the lesson content by linking if to the previous knowledge of the student, by
arousing the curiosity of the children is associated with aspect of lesson plan:

Options :

1. % Presentation

2 % Ewvaluation

3. % Assoclation

4. + Introduction

Question Number : 288 Question Id : 630680254694 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

T & T a SR, T8 T A R W A § AR w6 B g O o a
3 3 e, o A 3 o v & B

Options :




Question Number : 289 Question Id : 630680254695 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
CCE stands for:

Options :

1 % Clear and Comprehensive Evaluation

5> « Continuous and Comprehensive Evaluation

3. % Cohesion and Coherence in Evaluation

4 % Cycle of Continuous Evaluation

Question Number : 289 Question Id : 630680254695 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

CCE &7 &1 39 g1ar 82

Options :

- f#ery U3 FIEfd $9egua (Clear and Comprehensive Evaluation)

L v FA-HA U FgheT gaequar (Continuous and Comprehensive Evaluation)

FIGHA U5 HIgLH 34 3aequar (Cohesion and Coherence in Evaluation)

3. %



4w TTEH T aﬂqm 3‘3?%‘0‘%1?—[ (Cycle of Continuous Evaluation)

Question Number : 290 Question Id : 630680254696 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

Read the following statements and choose the appropriate response from the options given below:

Statement-1 Societies wherein generations of families are linked through the father’s line are said to be patriarchal in
nature.

Statement-2 Patriarchy as a way of life has affected men as much as it has affected women, across the world.

Options :

1 % Children with high intellectual abilities
5 % Statement-1 is false. but statement-2 is true

3. « Both the statements are true

4. % DBoth the statements are false

Question Number : 290 Question Id : 630680254696 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 291 Question Id : 630680254697 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Read the statement:

“Whether or not this more broadly defined group of children is in need of additional support, depends on the extent to
which schools need to adapt their curriculum, teaching, and organization and/or to provide additional resources so as to
stimulate effective learning for these pupils.”

Which type of children are being addressed in this statement?

Options :
1 % Children with high intellectual abilities

5> « Children with special education needs

3 % Children who perform well in academics

4 % Childrenof2 15 century classroom

Question Number : 291 Question Id : 630680254697 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 292 Question Id : 630680254698 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

When student makes mistakes in spellings, especially omits letter in words or changes their place e.g. 'pat' instead of
'tap', or 'felt’, as 'left’ or writes numbers wrong e.g., '12'as 21", the child is having:

Options:
1 = Physical disability
Mental disability

2. #

3.  Learning disability



. Speech disability

Question Number : 292 Question Id : 630680254698 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

79 et 399 & Teiew W 8, 9 T o F R OF &1 § T I FE e o §
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Options :

1. % 2 I 3rereFaar

5 % HIATHF FAFIA

3 o T 37ereFaar

4 % 9T 3RS

Question Number : 293 Question Id : 630680254699 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What is considered as the average IQ range in persons?

Options :

1.+ Between 85 and 115

2. % Between 60 and 70



% Between 45 and 60

4. % Between 35 and 45

Question Number : 293 Question Id : 630680254699 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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5 % 45 T 60 F &
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Question Number : 294 Question Id : 630680254700 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which theory has been propounded by the Howard Gardner?

Options :

1. = Two factor theory

> % Multi factor theory



3 % Theory of social learning

4+ Theory of multiple intelligences

Question Number : 294 Question Id : 630680254700 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
gras TR & @i o e wiawfea frar 87

Options :

) ar R &S (Two factor theory)

I FRF fraTa (Multi factor theory)

2. %
5 » TATSE HEH FT 8@ (Theory of social learning)
4 aggi& f@eTd (Theory of multiple intelligences)

Question Number : 295 Question Id : 630680254701 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

“A learner’s consistent way of responding to and using stimuli in the context of learning’. In other words, it is ‘the way
in which each learner begins to concentrate, processes, and retains new and complex information’.” This is the
definition of:

Options :

1. = Learning disability



> w Learning method
3  Learning style

4 w Learning ability

Question Number : 295 Question Id : 630680254701 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 296 Question Id : 630680254702 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Socio Cultural Theory of cognitive development was given by:
Options :

1.



w Jean Piaget

2 % Ivan Pavlov

3 % Sigmund Freud

4 LevVygotsky

Question Number : 296 Question Id : 630680254702 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

TAIcH fae &1 Alew Seios feerd (Socio Cultural Theory of cognitive development)
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Options :
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Question Number : 297 Question Id : 630680254703 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Formal operation stage in Piaget’s Stages of Intellectual Development ranges from:



Options :

1. ¢ 12 to 15 years

5 % /1o 1l years

3 % 2 to 7 years

Birth to 2 years

Question Number : 297 Question Id : 630680254703 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 298 Question Id : 630680254704 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A set of linguistic forms used in given social circumstances is known as:



Options :

1 % Language

5  Register

3 % Jargon

4 % Slang

Question Number : 298 Question Id : 630680254704 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 299 Question Id : 630680254705 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

When we speedily dart through a text to find particular information such as a name, a date efc. it is called as:



Options :

1 = Skipping

> % Skimming

3. Scanning

4 % Speed reading

Question Number : 299 Question Id : 630680254705 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Options :

5 FHAINEGTOT (TR

4% gd dree (Speed reading)

Question Number : 300 Question Id : 630680254706 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Which of the following does not comes under major discourse?
Options :

1. % Narration

2. % Interview

3  Diary writing

4 % Biographical sketch

Question Number : 300 Question Id : 630680254706 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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